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ALP/Technician Online Exam Svllabus
Second Stage (CBT)

Total Duration : 2 hours and 30 minutes (for Part A and Part B together)
The Second Stage CBT shall have two parts viz Part A and Part B as detailed below.

PART A

Duration: 90 Min. No. of Questions: 100
Minimum percentage of marks for eligibuility in various categories: UR-40%, OBC-30%, SC-30%, ST-25%.
These percentages of marks for eligibility may be relaxed by 2% for PWD candidates in case of shortage of
PWD candidates against vacancies reserved for them.
The marks scored in Part A alone shall be used for short listing of candidates for further stages of recruitment
process subject to the condition that the candidate is securing qualifying mark in Part B.

(A) Mathematics
Number system, BODMAS, Decimals, Fractions, LCM, HCF, Ratio and Proportion, Percentages,
Mensuration, Time and Work; Time and Distance, Simple and Compound Interest, Profit and Loss, Algebra,
Geometry and Trigonometry, Elementary Statistics, Square Root, Age Calculations, Calendar & Clock, Pipes
& Cistern etc.

(B) General Intelligence and Reasoning
Analogies, Alphabetical and Number Series, Coding and Decoding, Mathematical operations, Relationships,
Syllogism, Jumbling, Venn Diagram, Data Interpretation and Sufficiency, Conclusions and Decision Making,
Similarities and Differences, Analytical reasoning, Classification, Directions, Statement— Arguments and
Assumptions etc.

(C) Basic Science and Engineering
The board topics that are covered under this shall be Engineering Drawing (Projections, Views, Drawing
Instruments, Lines, Geometric figures, Symbolic Representation), Units, Measurements, Mass Weight and
Density, Work Power and Energy, Speed and Velocity, Heat and Temperature, Basic Electricity, Levers and
Simple Machines, Occupational Safety and Health, Environment Education, IT Literacy etc.

General awareness on current affairs in Science & Technology, Sports, Culture, Personalities, Economics,

Politics and other subjects of importance.

PART B
Duration: 60 Min. No. of Questions: 75
Qualifying Marks: 35%
SL Engineering Discipline Relevant trade for PART B Qualifying Test to be
No. (Diploma/Degree) selected from
1. Electrical Engineering and combination | Electrician/Instrument Mechanic/Wiremen/Winder
of wvarious streams of Electrical | (Armature)/Refrigeration and Air Conditioning Mechanic
Engineering
2. Electronics Engineering and | Electronics Mechanic/Mechanic Radio &TV
combination of various streams of
Electronics Engineering

Electronic Mechanic/ Radio & Television :
Semester-I :

Importane of safety and general precautions. Trade and Orientation, Hand Tools and their uses, Basics of AC
and Electrical Cables, Cells & Batteries, Passive Components, Transformers, AC & DC measurements,
Soldering & De-soldering and switches, Rectifiers, IC Regulartors, Computer Hardware, OS, MS office
Networking, Computer Networking.
Semester-II :
Transistor, Amplifier, Wave shaping circuits, Power Electronic Components, Mosfet & IGBT, Opto
Electronics, Basic SMD (2,3.4 terminal components), Basic Gates, Combinational Circuits, Flip Flops,
Electronic circuit simulation software, Counter & shift Registers, Op-Amp & Timer 555 Applications.
Semester-III :

Digital Storage Oscilloscope, SMD Soldering and De-soldering, PCB Rework, Protection devices, Electrical

control circuits, Electronic Cables & Connectors, Communication electronics, Microproccessor &

Microcontroller, Sensors, Transducers and Applications, Analog IC Applications, Digital IC Applications.
Semester-1V :

Fiber optic communication, Digital panel Meter, SMPS, UPS, Solar Power (Renewable Energy System), Cell
phones, LED Lights, LCD and LED TV.




Syllabus of Semester System For The Trade of

ELECTRICIAN

UNDER CRAFTSMAN TRAINING SCHEME (CTYS)
By Government of India Ministry of Labour & Employment (DGE&T)

First Semester —

B QOccupational Safety & Health— Basic safety introduction, Personal protection:- Basic injury prevention, Basic
first aid, Hazard identification and avoidance, safety signs for Danger, Warning, caution & personal safety message.
Use of Fire extinguishers. Visit & observation of sections. Various safety measures involved in the Industry.
Elementary first Aid. Concept of Standard. ® Soft Skills— its importance and Job area after completion of
training.Introduction of First aid. Operation of electrical mains. Introduction of PPEs. Introduction to 5S concept &
its application. Response to emergencies eg; power failure, fire, and system failure. Identification of Trade-Hand
tools-Specifications. Fundamental of electricity. Electron theory- free electron, Fundamental terms, definitions, units
& effects of electric current. Solders, flux and soldering technique. Resistors types of resistors & properties of
resistors. Introduction of National Electrical Code 2011 Explanation, Definition and properties of conductors,
insulators and semi-conductors. Voltage grading of different types of Insulators, Temp. Rise permissible Types of
wires & cables standard wire gauge Specification of wires & Cables-insulation & voltage grades -Low , medium &
high voltage Precautions in using various types of cables / Ferrules @ Ohm’s Law - Simple electrical circuits and
problems. Reading of simple Electrical Layout. B Resistors -Law of Resistance. Series and parallel circuits. ®
Kirchoff’s Laws and applications. Wheatstone bridge principle And its applications. Effect of variation of
temperature on resistance. Different methods of measuring the values of resistance. Common Electrical Accessories,
their specifications in line with NEC 2011-Explanation of switches lamp holders, plugs and sockets. Developments
of domestic circuits, Alarm & switches, with individual switches, Two way switch .Security surveillance, Fire
alarm, MCB, ELCB, MCCB. B Chemical effect of electric current-Principle of electrolysis. Faraday’s Law of
electrolysis. Basic principles of Electro-plating and Electro chemical equivalents. Explanation of Anodes and
cathodes. Lead acid cell-description, methods of charging-Precautions to be taken & testing equipment, Ni-cadmium
& Lithium cell, Cathodic protection. Electroplating, Anodising. Different types of lead acid cells. Rechargeable dry
cell, description advantages and disadvantages. Care and maintenance of cells Grouping of cells of specified voltage
& current, Sealed Maintenance free Batteries, Solar battery. Inverter, Battery Charger, UPS-Principle of working.
Lead Acid cell, general defects & remedies. Nickel Alkali Cell-description charging. Power & capacity of cells.
Efficiency of cells. ® ALLIED TRADES- Introduction of fitting trade. Safety precautions to be observed
Description of files, hammers, chisels hacksaw frames & blades-their specification & grades. Care & maintenance
of steel rule try square and files. Marking tools description & use. Description of carpenter’s common hand tools
such as saws planes, chisels mallet claw hammer, marking, dividing & holding tools-their care and maintenance. ®
Types of drills description & drilling machines— proper use, care and maintenance. Description of taps & dies,
types in rivets & riveted joints. Use of thread gauge. Description of marking & cutting tools such as snubs shears
punches & other tools like hammers, mallets etc. used by sheet metal workers. Types of soldering irons-their proper
uses. Use of different bench tools used by sheet metal worker. Soldering materials, fluxes and process. ®
Magnetism - Classification of magnets, methods of magnetising, magnetic materials. Properties, care and
maintenance. Para and Diamagnetism and Ferro magnetic materials. Principle of electro-magnetism, Maxwell’s
corkscrew rule, Fleming’s left and right hand rules, Magnetic field of current carrying conductors, loop and
solenoid. MMF, Flux density, reluctance. B.H. curve, Hysteresis, Eddy current. Principle of electro-magnetic
Induction, Faraday’s Law, Lenz’s Law. Electrostatics: Capacitor- Different types, functions and uses. ®
Alternating Current -Comparison and Advantages D.C and A.C. Related terms frequency Instantaneous value,
R.M.S. value Average value, Peak factor, form factor. Generation of sine wave, phase and phase difference.
Inductive and Capacitive reactance Impedance (Z), power factor (p.f). Active and Reactive power, Simple problems
on A.C. circuits, single Phase and three-phase system etc. Problems on A.C. circuits. Power consumption in series
and parallel, P.F. etc. Concept three-phase Star and Delta connection. Line and phase voltage, current and power in a
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3 phase circuits with balanced and unbalanced load. ® Earthing- Principle of different methods of earthing. i.e.
Pipe, Plate, etc Importance of Earthing. Improving of earth resistance Earth Leakage circuit breaker (ELCB). In
absence of latest revision in respective BIS provision for Earthing it is recommended to follow IEC guidelines.
B Basic electronics- Semiconductor energy level, atomic structure ‘P’ type and ‘N’ type. Type of materials —P-N-
junction. Classification of Diodes — Reverse and Forward Bias, Heat sink. Specification of Diode PIV rating.
Explanation and importance of D.C. rectifier circuit. Half wave, Full wave and Bridge circuit. Filter circuits-passive
filter.

Second Semester—

B Working principle and uses of an oscilloscope—Explanation of principle of working of a transistor &
configuration. Types of transistors & its application. Specification and rating of transistors. Explanation of transistor
Amplifiers, Amplifiers. — class A,B and C Power amplifier ® Explanation of oscillator—working principle
Explanation of stages and types. Multivibrator — applications. Introduction of basic concept of ICs, UJ.T., F.E.T.
Basic concept of power electronics devices e.g. S.C.R., Diac, Triac, power MOSFET, G.T.O and I.G.B.T. ® Digital
Electronics -Binary numbers, logic gates and combinational circuits, B Electric wirings— L.E. rules. Types of
wirings both domestic and industrial. Specifications for wiring. Grading of cables and current ratings. Principle of
laying out in domestic wiring. Voltage drop concept. B Wiring system— P.V.C., concealed system. Maintenance
and Repairing data sheet preparation. Specifications, standards for conduits and accessories - Power Wiring -
Control Wiring - Information Communication - Entertainment Wiring. Testing of wiring installation by meggar.
Study of Fuses, Relays, Miniature circuit breakers (MCB), ELCB, etc. ® D.C. Machines— General concept of
Electrical Machines. B Principle of D.C. generator— Use of Armature, Field Coil, Polarity, Yoke, Cooling Fan,
Commutator, slip ring Brushes, Laminated core. Explanation of D.C. Generators-types, parts. E.M.F. equation-self
excitation and separately excited Generators-Practical uses. Brief description of series, shunt and compound
generators. Explanation of Armature reaction, inter poles and their uses, connection of inter poles, Commutation.
Losses & Efficiency of D.C.Generator, Parallel Operation of D.C.Generator. Application of D.C. generators. Care,
Routine & preventive maintenance. @ DC Motors— Termsused in D.C. motor-Torque, Brake Torque, speed, Back-
e.m.f. etc. and their relations, Types of D.C.Motor. Starters used in D.C. motors Related problems Characteristics of
D.C.Motor, Losses & Efficiency, Application of D.C. motors. Care, Routine & preventive maintenance. Types of
speed control of DC motors in industry. Control system. AC-DC, DC-DC control. ® Working principle of
Transformer— classification C.T., P.T. Instrument and Auto Transformer(Variac), Construction, Single phase and
Poly phase. E.M.F. equation, parallel operation of transformer, their connections. Regulation and efficiency. Type of
Cooling for transformer. Protective devices. Specifications, simple problems on e.m.f. Equation, turn ratio,
regulations and efficiency. Special transformers. Transformer —Classification of transformer. Components, Auxiliary
parts i.e. breather, Conservator, buchholze relay, other protective devices. Transformer oil testing and Tap changer
(off load and on load). Dry type transformer. Bushings and termination. ® Electrical Measuring Instruments— -
types, indicating types. Deflecting torque, Controlling torque and Damping torque , PMMC & MI meter (Ammeter,
Voltmeter) -Range extension -Multimeter(Digital/Analog) -Wattmeter - P.F. meter - Energy meter (Digital/analog) —
Insulation Tester (Megger), Earth tester. -Frequency meter -Phase Sequence meter -Multimeter —Analog and Digital
-Tong tester -Techometer.

Third Semester—

B Three phase Induction motor —Working principle —Production of rotating magnetic field, Squirrel Cage
Induction motor, Slip-ring induction motor. Construction , characteristics and Speed control, Slip & Torque .
Control & Power circuit of starters D.O.L Starter, Star /Delta starter, Autotransformer starter, Rotor resistance
starter, etc Single phasing preventer. Losses & efficiency. Application of Induction Motor Care, Routine &
preventive maintenance. B Single phase induction motor- Working principle, different method of starting and
running (capacitor start, permanent capacitor, capacitor start & run, shaded pole technique). FHP motors, Repulsion
motor, stepper motor, Hysteresis motor, Reluctance motor. Application of Single phase induction motor ®
Universal motor-advantages, Principle, characteristics, applications in domestic and industrial appliances, Fault
Location and Rectification. Braking system of motor. Application of Universal motor. ® Alternator—Explanation
of alternator, types of prime mover, efficiency, regulations, phase sequence, Parallel operation. Specification of
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alternators and Brushless alternator. Verify the effect of changing the field excitation and Power factor correction of
Industrial load. ® SYNCHRONOUS MOTOR- Working principle, effect of change of excitation and load. V and
anti V curve. Cause of low power factor. Method of power factor improvement. Rotary Converter- Inverter, M.G.
Set description, Characteristics, specifications- running and Maintenance. Solid state controller and Invertors. B
TRANSFORMER Winding— Small Transformer winding techniques B DC machine Winding-- Armature
winding terms, pole pitch, coil pitch, back pitch, front pitch , Lap and Wave winding , Progressive and retrogressive
Winding, developed diagram. Growler construction, working & application. @ ACmachine Winding—Motor
winding terminology — classification of conducting and insulating materials used in winding — Types and methods of
winding in single and three phase motors. Stator winding terms, coil side, end coil and grouping of coils. Connection
to adjacent poles, connected stator winding, alternate pole connection, developed diagram. B Illumination— Laws
of Illuminations, terminology used , [llumination factors, intensity of light —-importance of light, human eye factor, ,
units. Types of illumination Type of lamps -Neon sign Halogen, Mercury vapour, sodium vapour, Fluorescent tube,
CFL, LED, Solar lamp & photo cell applications, Decoration lighting, Drum Switches, efficiency in lumens per
watt, Calculations of lumens. Estimating placement of lights, fans and ratings. B Industrial wiring— Code of
practice and relevant span. Wiring of electric motors, control panel, etc. Types, specifications, advantages of
different types of circuit brackets construction and maintenance. Working principle and construction of domestic
and agricultural appliances-their maintenance. @ Complete House— wiring layout. Splitting load wire in accordance
with NEC L.E.E. Rules. Multi-storeyed system. Fault finding and trouble shooting.

Fourth Semester—

B Machine control cabinet /Control Panel Layout, Assembly & Wiring:— Layout of Control cabinet & control
panel Study & Understand Layout drawing of control cabinet , panel, power & control circuits. ® Control
Elements:— Isolator, pushbutton switches, Indicating lamps, MCB, Fuse, Contactor, Relays, Overload Relay,
Timers, Rectifier, Limit switches, control transformers. Wiring Accessories: Race ways/ cable channel, DIN Rail,
Terminal Connectors, Thimbles, Lugs, Ferrules, cable binding strap & buttons, nylon cable ties, sleeves, Gromats&
clips ® Domestic Appliances:— Working principles and circuits of common domestic equipment and appliances. —
Calling Bell, Buzzer, Alarms, Electric Iron, Heater, Light. Electric Kettle, Heater / Immersion Heater, Hot Plate,
Oven, Geyser, Cooking range, Mixer, Washing machine, , Motor Pump set, etc. Concept of Neutral and Earth. B
POWER GENERATION :— Generation sources of energy, Comparison of energy resources. Types of fuels.
Advantages of liquid fuel & solid fuel. Various ways of electrical power generation. * Thermal « Hydro electric ¢
Nuclear * Non-Conventional Thermal Coal based, diesel based & Gas based Turbine. Constituents in steam power
station. @ Hydro Electric:— Schematic arrangement of Hydro-Electric Power Station. Constituents of Hydro
Electric Plant. Types of Hydro Electric Power station. Advantages &disadvantages. M Nuclear:— Schematic
arrangement of Nuclear Power Station. Composition of an atomic Nucleus. Advantages & disadvantages.
Comparison of above Power Plant. B Non-Conventional- An introduction to Power generation through non-
conventional power generation such as Solar, Bio-Gas, Wind energy and Micro-hydel, Tidal waves, etc. Basic
principal, Advantages & disadvantages of each. @ TRANSMISSION OF ELECTRICAL POWER- Electrical
Supply System : Comparison of AC and DC transmission. Advantages of High transmission voltage. Introduction to
Single phase , three phase-3 wire system in transmission lines Overhead Lines: Main components of overhead lines-
Types of power line Low voltage line medium Voltage line & high voltage line Voltage standard Conductor
materials, line supports, Insulators, types of Insulators B Under Ground Cable:— Construction of cables. Material
for cables, its insulation. Classification of cables, cables for 3-phase service, Laying of underground cable. Types of
cable faults and their location. @ DISTRIBUTION OF POWER- Function and equipment used in substation.
Classification of distribution system-AC distribution, Overhead v/s underground distribution system. Essential
features of switchgears. Isolator, Switch gear equipments, bus-bar arrangement, Short circuit, faults in power
system. B Circuit breakers— Introduction & Classification of circuit breakers lightening arrestors used in HT lines.
Introduction, Construction & Working of power transistor, thyristor. Introduction, Construction, Working,
Parameters & application of DC drive. Speed control of 3 phase induction motor by using VVVF/AC Drive.
Introduction, Construction, Working, Parameters & application of AC drive Schedule of electrical preventive
maintenance. Break down, Routine & Preventive maintenance of DC/AC machines, Voltage stabilizer, U.P.S.
&Equipments.
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Solved Paper

Exam Date: 23.01.2019]

[Timing: 08:30 to11:00 AM

PART-A : NON-TECHNICAL

In the following figure, the triangle represents
actors, the square represents professors, the
circle represents Indians and the rectangle
represents fathers. Which set of letters
represents Indians who are either professors or
fathers?

frafafaa emefa o, Bemor smfimaRt @
el hiar &, a9 WhEd Rt Wier=Tierer
AT €, T WREATET Bt Grafere Hiar § 3
3 ToaT Rt wfdf-rire ot g1 TRl 1 ST
| AT T TR AT Wil iar § S =
AT wrReR ar fuer 82

(@ E (b) G
(c) CEF (d) IGH

Ans

: (¢) f2U 7T 3@ ¥ ww & f% CEF U@ 9l &
it e & S ar af e @ A S

2.

A/An ... is software used to maintain the
security of a private network./ Th

Tsft Seadh =t GRam 99T W & fU 9geh
AiwaeT € ?

(a) firewall /SrERETA

(b) click bait /fFrsde

(c) encryption /Tf~h

(d) malware Ve St

Ans

: (a) BrERETT UH Fiweae @ e swEm el
qeadh F R S T & T A S 2

3.

Find the length (in cm) of the edge of a cube of
a piece of wood which weighs 80 N. (Use g =10

Ans : (b) AT TIHR THS N ol =a
qaar A (v)=a’
fear 8, I =80 N
g =10 m/s’
¥ (p) = 1 g/em® = 1000 kg/m’
dd (F)=mx g
80=mxg
m=8 kg
m (SH)
o (p) = — ——
v (3ATFA)
1000:§
\'
vo_8_
1000
8
3
)P =
@) 1000
2 3
v
(a) 10
2
a)=—m
(a) 10
2
Iq a= —x100 cm
10
a=20cm
3f: TFFBR THS &I 9 1 A= 20 om &
4. Find mass of an iron cube of side 2 cm.

(Density of iron is 7.8 gm/cm®)/2 |H. ST AT

W % T W FAEH W HINQ (R

o 7.8gm/cm’ %)

(a) 15.6gm (b) 3.9gm

(c) 0.975gm (d) 62.4gm
Ans : (d) I8 F T H MFAT = 2x2x2 = § TA
¥ T THAM = AT X ¥

m/sz, density of wood = 1g/cm3)/ SON oI aTet =8x7.8
THE oh Teh UATRR Thg &l Sl i e =62.4gm
@t W) T R (g=10m/s’, TR HT T | 5. Choose the letters which are different from the
=1g/cm’ &) rest./39 378 I I ST STkt | TETT B
(a) 60 (b) 20 (&) VTR (b) PRT
(c) 80 (d) 40 (c) HIL (d UwWYy
RRB ALP Technician (Electrician) 23.01.2019 Shift-I 7 YCT



Ans : (a) fosed @ - ns : (c) SHE o Toig TRy & SaqR et & fed
(a) Vv _2> T 2, R @W%lwwaﬂwsﬂ%wwﬁa
) fiig % 98 W T T 2
(b) P R T 10. Antihistamines are found in some first-aid
(C) g 2, L boxes. When should these drugs be taken?
@ U w2y Tifeemres gard, %o wafies faferar aret
o £ (a)w’ 3 él’ ﬁnﬁqs@?ﬁ‘%lsqamaﬁaﬁmmm
6. Find the missing number in the given series./ (@) T: ’ ndicesti d heartb
: g . ST a) To ease indigestion and heartburn
ﬁ?—oisg—”o?gj; fzm 399 W@ G § o H HH FH & fau
(a). 03 T (b) 0.4 (b) To ease the symptoms of hay fever and other
(c) 0.1 (d) 0.2 allergies/ TSl S (3 WiaR) 3R 3 o
Ans : (d) & T @ fEd 8- & I H HH B & fU
-13 08 -03 0.7 1.2 (c) To bring relief from asthma
I I Y I Y | SEH G TEd 9 % oIy
.5 +05 405 +05 405 (d) To aid in clotting of blood
31 T % 9% S § WEE F & fg
7. A said to B, "You are my husband's daughter - || Apg : (b) TifeemEzT ol &1 ST WIN SR (7

in-law's son. "How is B related to A2/A < B®
wEl, MU MUl AR TE F I 81 BT ASR
sfrer s fgar €7

(a) Bisthe sonof A/ B, A%l Eral

(b) B is the grandson of A/ B, A &1 ety A1t

(¢) B is the brother of A/ B, A &I “TE &

(d) B is the father of A/ B, A &1 fue 2

Ans : (b) 9 & 3TEN,
@-jﬁ—r A — 59
a_ai az O —» Hfeer
A—r
_AB
7: WE ¢ f% B, A&')T‘ﬁﬁT/?féT%I
8. When a number is increased by 36, it becomes

109% of itself. What is the number?/Tslﬁ'sﬁ @&
36 ¥ 9gH o S U 109% ok &R & ATl
g o 9% W& o €7
(a) 300
(c) 360
Ans : (d) 5FT §E&T1 = x
SRAENR,
109

X+36=xx——
100

100x+3600 = 109x

9x = 3600

x =400
Ha: IS He& = 400
9. The Umaid Bhawan Palace is in which city?
St wa torw foRe ITeR ® fRem 77
(a) Jaipur/STaYT (e) Bikaner/e X
(c) Jodhpur/ Gﬁ‘fﬂ( (d) Udaipur/35a9X

(b) 450
(d) 400

wiaw), foeft, 97 oy, UesH & Rl @ @ B & fo

T HE & HEd A Eh & ITAR F (AT fHAT Sam 2|

11. The weights of 3 boxes are 4, 7 and 10
kilograms. Which of the following CANNOT
be the total weight, in kilograms, of any
combination of these boxes ?

3 SerET T AT 4, 7 31X 10 fReiomm €, TR @
A gl o et oft Haee @ fRetmm §
HA I TE &t qehal ?

(a) 14 (b) 21

(c) 18 (d) 17

Ans : (¢) T S & a5 HAT: 4, 7 3 10 e T 2
TEER,

Tl SR B e aSH = 4+ 7+ 10 =21

foredl < ol BT ao = 10 + 4 = 14

fopedl & Sl A AT = 10+7=17

a7 18 fFelt off Haem 1 fehciomm § o oW T @

ekl 2|

12. Find the potential difference (in V) across a
resistance of 2.5 kQ through which a 2 mA
current flows./2.5kQ & 3SH W@ W
fawar=w (v #) F wig, S 2mA =t
forere e wafea et &

(a) 0.8 (b) 1.25
() 0.2 (d 5

Ans : (d) TR0 (R) = 2.5 kQ

=2.5x10°Q
g (I) =2 mA
=2x10"A

favara (v) = 3ferie (R) x f&ga = (1)
=25x10°Qx2x 107 A
=5

RRB ALP Technician (Electrician) 23.01.2019 Shift-I
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13. Which of the following folk dances is from

Assam? /freferiga # | i €7 9 & Ak

T 7?

(a) Bagurumba/aF[ewl (b) Giddha/fTET

(¢) Nati/=Y (d) Lezim/@fm
Ans:(a)Wﬂﬂwwmmmé
39 A I el 3 o FE 9 81 A8 T 7 na
% I e w9 § faven gwfd  HEw F S e

ST 21

Ll s

ELCil - [CEIEE G

firer - LRI

e - TR

14. What is the relative density of a solid of mass

50 gm which when fully immersed in water
weighs 10 gm? /50 TTH SHHTA T 39 3G
MUfarer T Ja v, R ot ®F of e
A T W T ST ST 10 TTH YT Erell &2
(a) 0.8 (b) 1.25
() 2.5 (d 5
Ans:(b)ﬁHWWZSOgm
I & 9R H FHH =50 10 =40 gm
3qq: W@ﬁﬁﬁw:40gm
T H FEE =1 gm/ee
3G T ST =40 cc
SHHH

3: 39 H TAE =

&=1.25gm/cc
40

s g = S A
RICiERCEI

125

T

=1.25 gm/cc
One statement is given, followed by two
assumptions, I & II. You have to consider the
statement to be true, even if it seems to be at
variance from commonly known facts. You
have to decide which of the given assumptions
can definitely be drawn from the given
statement./Ueh HI= faam =T ¢, Tk &< o
STRUTTY 1 AT 11 <t ¢ 1 MUkl = st TeX
AT &, 9l € 9 W ®9 9 A a9
st 211 3ueRt IE W@ & § R R e wmem
¥ ¥ s o aron fafyem w9 9 49w & S
Hehdl 8

Statement: "You are appointed as a trainee
accountant on temporary basis. Your

15.

employment status will automatically be
converted to permanent on submission of pass
result of M.Com final exam. "— Extract from
an appointment letter.

HY: ' SMURT SFEATAT ITUR WX YT @TRR
& w0 H frgee fRar @ §) TAwT & sifow
Titem iUl @R @ URumT wgd e W
TYeRT VTR T & et & smaem”

TR o=t &t 3t

Assumptions :

RIS R

I. M.Com final exam is a reasonable proof of
an accountant's capability/THeR. 3ifaw
T Uk UehTSee &l WAl AT Ueh Sterd
YT

All trainees are appointed on temporary
basis/&sft U&Tagaﬁ W TR MU W
forgn ferarm e 21

Both I and II are implicit

YR 1 3R 11 34 siafifed @

Only assumption [ is implicit

el RO [ Sfarifd 2

Neither I nor IT is implicit

T A on 1 S T & 10 siafiRa @

Only assumption II is implicit

e gRT 11 ariRd 8|

1L

(a)
(b)
(©)
(d)

Ans : (b) RU T FoH # Faod iR Faa@ w1
Fffed 8 Fifsh H99 F AR T8 W fHay T 2 5

W &Y ¥ f 29 % o wH.am st g sfer 2

16. If a shopkeeper sells an item at ¥ 2,700, he
makes 8% profit. If he sells the item at ¥ 3,000
what will be the percentage of profit? /afg 'él'ﬁ'sc
THMER 22700 T Teh o] Sreram &, af 98 8%
AT HATET ¥ AT TE 3000 W TG HY S
¥, O ATH T 9T @ g 2
(a) 25 (b) 10
(c) 20 (d) 12

fesha a1 x 100
(100+P%)

~2700x100

108

—32500
af% % 3000 H ST S 2, T I E AT oA
_3000-2500

2500
=39 100
2500

= 20%

Ans : (¢) 9K & T I =

V)
o

100
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17. Rearrange the parts of the sentence in correct

order./dTeRT & Wel &l Hal oA |

)

In terms of reasons that a customer

TR o " | 6 T uEe

X - possibility is that they've actually finished
changing, but

X-HaaT § foR 3R awma § ST (sRust
Q) T foran €, AR

Y - might not come out of the changing room,
one

Y- & =R w0 & ST T I B, Ueh

Z - the clothes are hopelessly unsuitable

Z- U RS ®U W UG §

(a) XZY (b) ZYX

(c) ZXY (d) YXZ
Ans : (d) 9 & TUS F T HF YXZ g, FEw
S Tl AT freed 2|
TS ATEh, 9 TR0 EF T G FE ST g, TH HAE
2 & 3= ae #§ SR (FUe "Ee) W fae g,
AT Fue Frrerers &9 § S § |
18.

An arrowhead at the end of a dimension line is

approximately long and 1 mm wide.

T wE) & R W
e @9 @ e TN ... ol 3R 1mm
=TSt Bt 21

(a) 1.5mm (b) Smm

() 3mm (d) Imm

Ans : (d) SEHYH o o fmrgee W o F'd 81 T8
TF G T @M & ST 3mm & 797 1 mm =T 3 2

< >
TEHYE AR H JAT {8 eTestae a1 (fern) &1 A9
Z9 % e fovar S 21
19.

Green and yellow vegetables in our diet mostly
provide us which element as food? /EAR STTER

o dieg & iR dich afesat someer g wiee

% B U I AT ad W Sl & 2

(a) Copper/diar

(b) Potassium /

(¢) Sodium/difezm

(d) Zinc/SE
Ans : (b) TR 3TER ¥ Higg &8 it deflt gt smem
g dISH % &Y GREY qd T H 7 |
T # S % el § A 3 geH, weutyEt
H Uad T SRS, FAGA R AN, W A H HoAE
anfe wfirer 21
20.

An object with greater: has greater inertia
ATeA o] T WSed ARk Brell B
(a) Acceleration/™RUT  (b) Mass/SFHIT

(¢) Velocity/aT (d) Volume/3Taa

.........

Ans : (b) 3% FAM aTelt a%q &1 Sga ot e g
21 AET &9 T R 9 #1 ST 39 FoAHH § A
ST 2|

foreft fie @1 @ o1 fowe snu fis faum &t sfawn &
I THYEH 9§ Tq S e H Rl JHR % ufteda
&1 Y A 81 ST FEeArT 2

21.

Which team won the Indian Premier Leagur

(IPL) in 2018?/f%® Jw 3 2018 W 2m=nfra
Efgaa Wifter o (ensdiue) St 2
(a) Royal challengers Bangalore/
Tt deford SR
Chennai Super Kings/=5% g fhrg

(¢) Hyderabad Sunrisers/8eTR GRIEY

(d) Kolkata Knight Riders/Icibrdl 8e T5eH
Ans : (b) 97 R = T 2018 Fwwr § o1 frum
2Tt St |
2022 E.A.TA H 2 7% Al & IS+ & 9= 3 FA 10
1 & T @1 TR ey 7 oM. Hue 2022 F faaE
TTET T ol TRIfSTd T S|

(b)

22. Binary 110110101 is equal to decimal
AT 110110101 SIHAL ... % SR B
(a) 477 (b) 349
(c) 437 (d) 333

Ans : (¢) (110110101), = (M0

1101101 01

0x2° + 1x2° + 1x2* + 0x2° + 1x2% + 0x2' + 1x2° + 1 x
27+ 1x2°

256 +128 +32+16+4+1=437

23. The Living Planet Report, released every two
years, it the flagship publication of which

organisation? /' TeIfer T e e e 9 o
T T A &, TG R ST W Y 82
(a) World Wide Fund for Nature/

e LT HUE BT R

The Nature Conservancy/3 R shofa gt
Conservation International/FHefd ¥ $STHIMA
Wildlife Conservation society

ST oy FrETE

Ans : (a) 9c€ IS HUS BR d9K IR & 2 G H
e wiie R s &t st 21

o wiie fUd 2022 & oER, fusd 50 ot #
I wH wHeRdl, ofell, Swed, wigd e
wRfert &t e § 69% it v o 7|

24.

(b)
(©)
(d)

Who was the chairman of the Constitution
Committee ?

e wer wff 3TETLT T & ?
(a) Sardar Patel/SGER wd

(b) Dr. Rajendra Prasad/sl. To= J91&
(c) Dr. BR Ambedkar/Sf. &.31R 37=ga
(d) Jawaharlal Nehru/STE@t Tl TEE
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Ans:(c)@%fmwﬁ%?ﬁaaﬁﬁ9ﬁﬁml946aﬁ
g o dfoum & e W faEr fawl @ % fau
UM 991 g 29 3T, 1947 3. & UH Hehed UIRA
Fh AEIEY/IET GiEfq 1 T fFAr T

g, . AN syEgH GgUE §W @ ¥ G &
3TeeT 9|

25.

Acceleration due to gravity on moon is 1/6th
that on earth. How would an astronaut weigh
on moon if he weighs 90 kgf on earth?
(acceleration due to gravity on earth
10m/s”)/ TS W [EEST-d ©Xur geat &l
1/6 & afe geaft w fereft siafter amft &1 aw
90kef &, T =EAT WX SHeAT WK feha=T Bm?
(I W T[EEST @R =10m/s%)
(a) 9N (b) 90N
(c) 150N (d) J15
Ans : (¢) SS9 (m) = 90 ez

TEET @7 (g) = 10 HyH
3d: E?I:ﬁ W IqET HT Y,

w=mXxg
=90 x 10
=900 N
WWWW:%xqwﬁmmw
:l><900
6
=150N

26. What is the area (in cm’) of an equilateral

triangle of side 8 cm?/8 Wi ‘ﬂFiTaﬁ Eic)
THETg Bryyst ot Ssther (et H) R g 2
(a) 3243 (b) 83

©) 643 d) 1643

Ans : (d) FHaTE BT 1 St :g(‘ﬂ?ﬂ)2
3T 8 W, ST AT THATg B T Skt
3

:Tx(8)2

= g x 64

=163 Tft?
What is the angle between the hour hand and
the minute hand at half past two?/a'l'si T TS
= g% ai fire =1 gg & <frer wror T @
(a) 90° (b) 105°

27.

Ans : (b) 2:30 a9 WS 3R fie ach g€ % #i9 @
HIU]-

o - m:%(30><hi9)

30=1—21(30><2i6)

15x11=60+0=165° =60° + 0
0=165"—-60"= 105"
Choose the one which is different from the

rest. /il STehT & 37T &, 39 ﬂ\ﬁl

(a) Father/fam (b) Brother/ T2

(c) Mother-in-law/¥E  (d) Son/Td
Ans : (c) &9 (a), (b) 791 (d) ¥ T T 31 [&W
A Hd §, el fohed () Higel &1 Sfatreee
T 21| 37 famhed () 3 § R 2
29.

=

Find the heat capacity of a pan of mass 200 g if
its temperature rises by 8° C on receiving
20000 J of heat./200gm FSTH ST Teh HSTel

(UT) =Y et enfar A ST, Tfe 3@ 2000 J

o fou W= WX 39es amou o 8°C @t gfeg

et 21

(a) 250K

(c) 1.25Jkg 'K

(a) SFHE (m) = 200 gm
g § 3R (AT) = 8°C
FST (AQ) = 2000 J

ST A AET
WW*W
_AQ

AT
_ 2000

8

=250 Jk '
In the following question, which set of letter
and numbers, when sequentially placed at the
gaps in the given series, shall complete it?
frafafaes ao= ®, Stert iR dEnsdt &1 s
g, § TE sjEen § e W hiNE 0 @
@ W, 3H YA HEM ?
1_2x_bb_yy cc 6zzz
(a) 3ad5c (b) 3a4b5
(c) a345c (d) 3a45b

(b) 50JkG'K™
(d) s5IK!

Ans :

30.

Ans : (¢) & T e faq 8-

ﬂn

3

+1

(c) 75° (d) 120°

1+ ] 5]
o7: fch Ml & o9 98 SHaet 9@ =a345¢

RRB ALP Technician (Electrician) 23.01.2019 Shift-I

11

YCT



is when we cover a surface with a pattern
of the shapes so that there are no overlaps or
gaps. /o AT & 9o gu foRdt |ag
W IRl o Yot & gk o & AR A
AT a1 T T & |
(a) Gradient /q9UTdT/BlA
(b) Kerning Veatn)
(c) Tessellation /2HATH
(d) Tracking /?ﬁv_‘T
Ans : (¢) U6 SYAYH (A1 TEfAT) 79 i & 99 89 T
TIE S U AHR G o WY B H 8 alh HE
AT A1 A 7 |
32.

Two children, weighing 30 kg and 15 kg, sit on
one side of a see-saw at a distance of 1 m and
1.2 m respectively, from the fulcrum. A boy of
'M' kg sits on the other side of the see-saw at a
distance of 1.2 m form the fulcrum, and the
see-saw is in equilibrium. Find M.

30kg 3 15kg T TT &I oreel, A (-1
% Ueh o 3Tes W shu9n: 1HieT 2w 1.2 e
@t g W a3 € "M'kg T Ueh TgehT FA (-
| & O TWH e ¥ 1.2 Hew &t gt W
AT §, AR e (W-|h) @I i rewe §
1 M T | AT RIS
(a) 45

(c) 40

Ans : (¢)
15kg  30kg

l l O(—] ‘ZCm—)»V

%
Tcm A

A 3l (1) = x fog 0 & I F = gl

t=Fxr

=(mxg)xr
Mxgx12=30xgx1+15xgx1.2
(1.2 xM)g=g(30x1+15x1.2)
1.2M=30 +18.0
1.2M =48
M= il =40
1.2

M =40 kg
33. A map converts coluor intensity or
grayscale information to heights to give the
appearance that features are raised above the

#a, &1

surface, like embossed letters./........
et o o ©het Heielt ST RT 1 3@ WK it
femmae yem &= & fau surar g, fed a8
TAE & SUT IS FY, TH IURER e |, yeftar
B 2

(a) Tint/fE2 (b) tone/2

(c) bump/sq (d) Shade/¥iE

(b) 48
d) 36

M

ns : (c) 9 99 7 & Fdr A T Thel B FHBR B
TOE § Soat 3@ @ A TE oW fem < ows
forerommd. wae & IR 3 gE § 9 IW g SR I
AT s T fafy @ e STE s it § agg
# v W Pt 3R g F IO B F U fwan
ST 21
34.

In a certain code language, '+' represents 'x',
'+' represents '+', '-' represents '-' and 'x'
represents '-'. Find out the answer to the
following question./Ueh Tf¥era e wrer 4, '+
| 'x' ! I TRAT ST &, '+ | '+ R R
Toram STaT 8, ' | '+ Y oIk ToRaT ST § AR
%'} ' B ek feRan Strar €1 fraferiaa e
T ST ATA hifTg)
12+6-2+10x5=?
(a) 37 (b) 23
(c) 16 (d) 50
Ans:(a)mm%ﬁﬁ‘ﬁaﬁﬁmgﬁﬁm—
feam e iR -
12+ 6-2+10x5
T % AR
=12+6+2x10-5
=12+3x10-5
=12+30-5
=42-5
=37
To is to prepare a storage medium,
usually a disk, for reading and writing.
e, TRt dumees wreAw, wTETE:
femm, &t urea (@fEm wd adwa @tEm %
forT oo T 2
(a) defrag/fEHm (b) boot/TE
(c) map/ﬁ'q (d) format/ e
s ¢ (d) WHS F, FH GRS AeEH,
fEw, & wed (@) @ awa @R F fu qar
FT R
36.

35.

...........

If A, B and C can do a task working alone in
12, 18 and 36 days respectively. They all work
together for 2 days, then B quits. How many
days will A and C take to complete rest of the

task? /afg A, B 3 C 9T 12, 18 317 36 o=t
T Ueh W I 3The! YU T Hehd &1 T |eft 2
fat & fou Te W @ @A §, R B @
BrE A §1 A 3R C T WY FW FE @ @

9 @l &y feRae fet F g R 2
(@) 3 (b) 4
) 9 (d) 6
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Ans: (d) A, B 3 C g/ foh 1 fe & fopan o

11 1
=—+—+—
12 18 36
3+2+1 6 1
36 36 6
W:A,Bamcmzﬁ:rﬁmwwh%xz
3

37d: T HEF H A T C E HH H T I

2 2
3 3 _2.36
11 3413
7+7
1236 3
=6 faa

37. The resistance of a metal rod depends on all of
the following, EXCEPT /T oTq &l B
T Wi & oFeTan famfaraa gt W
frsft e 21

(a) Density/gqd

(b) Resistivity/SfoRIerhaT
(¢) Temperature/daHT
(d) Length/ [GEIH

Ans : (a)

e (R) = pL

ST, L =o1q & 3% & o (L)

A = STTTIFR FT &IHA

p= SfeRIereheT fereic
TH YHR 91 H DS H AT FAE (L), STTRIHRE
AR (A), TTelh Tard T i qo1 A S 4 HRe
R faeft e 2
fer T fqwe 9, O # BT F 0" TWa W R
T 2
38.

ooooooo

The National Skills Development corporation
(NSDC) is a public-private partnership formed

under India's /TS T e foemm
(NSDC) ¥R & % dgd TSc Teh
wrestren foreft argerd 2

(a)

..........

Ministry of Science & Technology

forg wd srenfiret warera

Ministry of Finance/fad #arer™

Ministry of corporate Affairs

FMIRE WA % T

Ministry of Electronics & Information
Technology/3aiagiFed wd g1 Staifiest
e

(b)
(©)

(d)

Ans : (b) T &Iva fasE | (NSDC) th -
9H Frefoleh AT Hudt 81 gHS T 31 july
2008 T U ARITEH, 1956 H &N 25 o ded H
g ot

NSDC & T fag e 3 W) fastt et
(Public Private Partnership - PPP) Afe@ & &9 & @&l 4|
g STl gy AN Iafar dEed & o7 S S
21 I8 39 § Preret AT F oY Hrai-aaT TS @)
39.

Who invented the blue jeans?

et e =1 StrferseRt feraw ferar e?

(a) Todd Oldham/2(8 3ieeq

(b) Gianni Versace/ &t g

(c) Calvin Klein/fead i

(d) Levi Strauss/adt i

Ans : (d) Tt Sig F1 enfoshR o =i T fFar of
TR el W U HU AW B 8 S el s g e
areft Tgelt St 21

40.

If the speed of a car increases from 54 km/hr to
90 km/hr, its kinetic energy would increase in

the ratio ./ate Terdt I &kt TTfa S4km/hr
¥ FgRT 90km/hr & ST €, AT THeRt TRAA
FHA e R AT | &G ST

(a) 3/5 (b) 4/9
(c) 9/16 (d) 9/25
Ans : (d) TR AT () = 54 km/hr
st & (v) =90 km/hr
Trﬁa er —><1’1’1XV
(&l m = ;aqm:r, v =4
TReT AT (n) & T e St
= %xmx54><54
afeag a7 (v) & fore st 3,
= %xmx90><90
30 TS el H 3T,
l><m><54><54
_2
1 mx90x90
2
5454
©90%x90
_9
25
41. A bullet travels 90 m in 0.2 seconds. Find its
speed in km/hr. .
T et 0.2 ¥ehg ¥ 90 Hiex &t gff a9 et
21 3He! ot km/hr B FTG ShifeTq)
(a) 162 (b) 1620
(c) 125 (d) 1250
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Ans : (b) Tl & =T _ 3
T

90 18

0.2 * 5
= 1620km/hr
Pipe A can fill a tank in 6 hours. Pipe B can
empty it in 15 hours. If both the pipes are
opened together, then the tank will be filled in

how many hours? /4digq A Toreft 2 @t 6 U2
W 9T HehaT §1 UET B 3 15 =S § @reft &
Hehal §1 Tfe S U1l Rt Uk WY WEAT ST

42.

g, @ & R wiet @ W) S 2
(@ 9 (b) 12
(¢) 10 d 8

Ans:(c)WAQT[IH@ﬁWWz%W

WBmlé@ﬁ@?ﬁmwm:%

3 A R B A B TH 99 @iod W 3F b WA °
1
T 1

6 15
1 1 .
=533 =10%
30 30
3 3 10 59 § 9 S|
43. If half a liter of hot water at 90° C is mixed
with three and a half liters of cold water at 10°
C, find the final equilibrium temperature (in
°C) if no heat is lost./afe 90°C ATIHTT oI
e e T Ut @ 10°C ATUHTE 9t |ie
= ofrex 32 urit & Ty faemEr ST g, o
I ST T 9 T W, Iifqw Hge au|e
('C ) 7 =i
(a) 50 (b) 20
(c) 40 (d) 30
: (b) W 3ifem Tfer A T°C @ 7@
Heat lost = Heat gain
mic AT; = myc AT,
m; AT, =m, AT,
1 7
2(90 T)= 2(T 10)
(90-T)=(7T -70)
8T =160
r- 160
8
T =20°C|
Which of the following is NOT a base unit?
Prefafaa § & & € 9 3 T8 87
(a) Radian/3fga (b) Mole/dret
(c) Ampere/TFIIX (d) Candela/H<aT

o 99y =

Ans

44.

Ans : (a) TH.3TE. 7 9o TRMET SR 39 o T
g 2|
EGRUNEl
Rutl S.I. ATsTeR
A e (kg)
Wﬁf e (m)
e T&e (S)
wered S T 1 (mol)
AT HfeaT (k)
fer sma TR (A)
S IGIEG) el (cd)
37: S A THhE A4 2

45. Find the work done (in kJ) if a force of 750 N
pushes a cart of mass 30 kg by 16 m./af¢ 750N
T Teh o 30kg FSIUTT ht Teh TSt &l 16m
ek Tereenfia et €, At feram = @ e (kJ o)
AT i)
(a) 28
(c) 36
Ans : (d) & 2,
A (F) =750 N
foem= (s)=16 m
foam T FRF (w) = F.S cos®
T’ O=0
al cosh = 1
w=750x16
w = 1200017
_ 12000

a0 w = kJ
1000

Curves employ at least three points to
define a curve. The two endpoints of the curve
are called anchor points. The other points,
which define the shape of the curve, are called
handles, tangent points, or nodes./............ deh
= IR e & T w9 @ & e feigen
T YT feRT ST ¥ 9k & @ oifew feigent
T Uk Ui el WIT g1 31 foreg, S ok &t
STty @ TR e ¥, 5 dew, weiea
feig (2ie wige) =1 =gy gl S €

(a) Kappa/<rdr (b) Bicorn/aTgehi-

(c) Bezier/sfSaX (d) Deltoid/S=IE

(b) 48
@ 12

46.

Ans : (c) IRR 56 H IR FH F fC F7 T FH
i feigait &1 wam fohem ST 21 @ & @ sifow feiga
F TehL TiES el ST &1 I g, ST Ak H SH B
TRafed w0 ¥, 3% few, wRRdE Ry (@S TEem)

7 AIgq Fel S 2
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47.

is the physiological adjustment by an
organism to environmental change.

ufted= & wfa feedft Sfra grr ferg S amer

IR TS Y ... el ST &

(a) Bioaccumulation/Std &=

(b) Bioremediation/SaTT=RTT

(¢) Acclimation/ TR her

(d) Cogeneration/Hgsd
Ans : (c) Taaig giada & wfy fedt Sta g e o
AT TR T i TRl ST ger el ST

48. The sum of two binary numbers 1101111 and
11001101 is——./aF g G 1101111
3T 1100101 =T AT ....... T
(a) 100011100 (b) 11110000
(c) 11010100 (d) 100000110
Ans : (¢) TR TS BT AT
PR HIRE]
0+0 = 0 0
1+0 = 1 0
0+1 = 1 0
1+1 = 10 1
1 1.0 1111
+ 1 100101
11010100
31: fhed (o) Tet foshey 21
49.  (0.1’-0.025%)+(0.1-0.025)=............
(a) 0.625 (b) 0.125
(c) 0.325 (d 025
Ans : (b) (0.12 —0.0252)+(0.1—0.025)
_(0.1)> ~(0.025)*
~ (0.1-0.025)
~(0.1+0.025)(0.1-0.025)
- (0.1-0.025)
[-a’ b =(a+b)(a~b)]
=0.1+0.025
=0.125
50. The bar graph shows the population density of

6 countries for the years 2000 and 2010. By
how much is area of country B greater than
area of country D, if population of country B in
2000 was 10 million and population of Country
D in 2010 was 6 million. Population density is
measured here as number of people per 100 sq.

km./SR T & 2000 3T 2010 & 7w 6 or
& TAEEIT S hl TITAT §1 39T B T &5Thel
QT D & T | Terea=T 21fren 8, afe 2000 &
9T B St SHEEAT 1 &S oft 3 2010 § 29T D
Ht TAEET 60 TR et T TG U wie

100 =t fereft o forame & ol SafRal &t

AT % w9 W AT S 8
600
s00 500 12000
2010
g 400 200 400 400
g 300 300 300
?;_200 ’oo 200 700 200
h 100 100
0
A B
Country
(@) 25% (b) 20%
(c) 500% (d) 400%
Ans : (d) FRAMER,
¥ 2000 # < B H FHHEAT TS =%aﬁﬁ?¢r
=1 wfq =t fopedft.

. B & gha = 10 fafeas avt .
¥ 2010 § D T SIS T =%aﬁﬁ:ﬁr.

=3 9 & fopeh.
. DH &%a =— =2 e aif fad.
. e wfawE = _leoo%
=4 x100%
=400 %
51. A alone can do a task in 35 days and B alone in

14 days. If they work on it together for 5 days,
then what fraction of the task is left?/ A

35 ot & ek wd W Wehar ® 3R B 3@
THAT 14 ol T & Fehat €1 Ife F A1 5
fet & T 3@ W Uk W I WA §, o
feremT 9w s § 2

(a) Halfy3ren

(b) One-thirds/Ts foieTé

(c) Three fourths/d =terg

(d Quarter/iﬁi’l'l'sp

Ans : (a) A &7 3Tl | o &1 3 = —

melﬁ?aﬁrwz—

A+B & 1 foT o1 !

_+_
35 14
_2+45 7 1
70 70 10
5feat # @41 & g fowem o =—Ox5—%‘¥ﬂ"T

3 9N =1 HE = 1—E :% AN AT AT 9T
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52. 1In a steady-flowing river, a boat goes a certain

distance upstream at a speed of 12 km/h and
comes back the same distance at 24 km/h. Find
the average speed for the total journey./Uch

feer-aeedt =t o, wes e amw @t fovw # 12
ferft <. Y =mer @ ww iy ot o et ®
3R fore 3Eft gt =t Tt feom & 24 fomeft e
Wt AT § T HIA g1 A AT ok fAw e
=T AT I
(a) 15km/h
(c) 16km/h

Ans : (¢) TRAMER,

g7 F 39 # 9@ # =@ (x) = 12 km/h

g7 Ft fquda faen & 9@ &t =1 (y) = 24 km/h

st A = 2 J2x12x24 o n
X+y 12+24

(b) 18km/h
(d) 20km/h

53. If 3A = 6B = 7C; find A: B: C./dfC
3A=6B=7C; T A : B : C &l U SaT3U|
(a 12:7:3 (b) 7:12:6
(¢) 7:3:12 (d 14:7:6
Ans : (d) "1 3A=6B=7C=K
= A=£,B=E,C=E
3 6 7
31d: A:B:C=E:E:E
3 6 7
11
3767
24248
3767
=14:7:6
54. Find the co-ordinates of the midpoint of the

segment joining the points (-4, 7) and (2,

3)./f8g (—4,7) 3 (2, 3) ¥ T a1ar ufedg

& weA foig o TadvTien sl
(@ (-1.5) (b) (2,3)
(© (1,-5) d 2.4

Ans : (a) ﬁ% (Xl,yl) LRI (Xz,Yz) @ Eﬁﬁ T‘F‘ﬁ El'lﬁ qﬁ@?{
; _[XtXy YitY,

% weg faeg o1 e _( 2 )

3 g (4,7) T (2,3) § BRI ATl IR=WT &

e foeg 1 b =[‘42+2,7T+3j

= (_15 5)

Which of the following is an example of a first

class lever? /foafeiiiaa # & @9 @1 wom groft
¥ ITIICTeh T ISTEIT &7

(a) Wheel barrow/Ts afgan &1 3al (=l 1)
(b) A pair of scissors/&d!

(c) Ice tongs/a%h 3o =i fwdl (33w M)

(d) Nut cracker/ ST (A< aﬁﬁ"()

55.

Ans : (b) STiTeTeh - 98 Qg g oefa @ < %9 §
B9 FAE % G FS HH B b (AT T P S
UH gl IeTeR - YgH 97 & IAias § ofad, AR
R o & e F Rem @@ 21 S - R, e,
geuu, g5t iy

facfiar goft & soieew - oW, g feEea & weia
gete |

et guft o ITIeTeR - RUeR, famer s |

56.

The given Venn diagram shows the number of
students who have passed in the three exams,
viz. English, Science and Maths. How many
students failed in all the three exams?

foam = 99 M@ 37 B St WEAT 9T §
ot T whanelt § sl gu €, srufq e,
famm 3R it = wftenett ® faRaa B

it gu 2
English LU=a0
Science
A
Math
(a) 6 (b) 12
© 9 d 3

Ans : (d) 2T 7T 59 sR@ #, F I g BH H GE@&A
=15+8+11+3+6+5+9=57
o T aReet # ST SEl & 9@ = 60-57 =3

57. 1If 5x/2 — 1/4 (6x — 5/3) = 7/6, then the value of x
is /(S 5x/2-1/4 (6x-5/3) = 7/6 &, AT x T
T 3-
(a) 5/4 (b) 3/4
(c) 5/7 (d) 3/7
Ans : (b) 5—X—1[6x—§] :Z
2 4 3) 6
5x 6x 5 7
: — — — —_——
2 4 12 6
10x-6x 7 5
= =———
4 6 12
4x 14-5
= —_—=—
4 12
9
= X=—
12
3
= X==
4
58. One statement is given followed by two
conclusions. Decide which of the given

conclusions can definitely be drawn from the

given statement.@ﬁﬁma?maﬁwﬁfﬁl{
T €l Fg 99 L f fou U wew § @ @
foreeret Ty w0 & ettt ST Heha 21
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Statement: As income increases, cars become || Ans : (c) T FaHH H 37T IR fEd i 33 wuw: 5x
more affordable. qgm 8x B
FHAT : WS AT TG €, W AR T || q: 2 WA 9,
Fret et 2 3T & 3 = 5x+2
Conclusions I : With greater use of technology, fedt =t 37 = 8x+2
cars are now cheaper than they were a||¥THN,
generation ago. 5x+2 _ 2
foerd ;1L diEnfie & srfie SuET & Wy, 8x+2 3
w7 froedt didt ot gomn & wwd & = Dxt6=16x+4
. ) = x=2
il.t Ca:‘s l:’vﬂll beco-rﬁe ;0 ill:llltler;);s thz;)tl N0 |3 2 O] Ted 38 R i =8 x2 -2 =14 a9
uture technology will solve the traffic problem. - - ry— ToT
. 61. Find the specific heat capacity (in Jg© K") of a
w II: &R gt sifre & st R wi%rs:r block of metal of mass 500 g, the temperature
o aﬁé oft TR aﬁhﬁ HHET HT THTETT & of which rises by 80° C when it absorbs 10 kJ
S e of heat?/500gm SEAH AT T % T Ths
fafots s aRar (Jo 'K T FRe
(a) BothIand II follow il UJg K ﬁ) G ?
1 & 11 3 @] 8 & e g 10kJ o1 STavita fhg s o
(b) Neither I nor II follows (3 E)l “1 Esl |6| T & 80°C T ?:? ???2&5 &
a) 1. .
qahsﬁwé‘rumﬁm% o o @ o0
(c) Only conclusion II follows Ans : (b) fe 3
e e 11 e e 8| : e
. SHHE (m) = 500 gm
(d) Only conclusion I follows 9 (Q) = 10 kJ
Fae fsd [ @ & 2 10,0007
Ans : (b) BT 7T FoF § T @ fswd 1 3R T & fsed 11| | |9 & afg (AT) = 80°C
Tt S wehar 81 a1 & & feRd T T e ||| 3 Q = me AT
AR A 2| Sl Q=T Feif
59. 1In a certain gear train, the driver has 18 teeth m=9
while the follower has 8 teeth. For every 16 ¢ = TaTeme. s &e
turns of the driver, the follower turns AT =dTqer § 3@
times. /Teh TAf¥=ra ARR 29 o, Gometes (SEaN) __Q
. s . o o C=
firr & 18 T &, Tafer Hemed (TRicsi) mxAT
firee # 8 g §1 Helter® (TEE) *F TAF 16 _ 10000
TRt % TorT, denferd (wieter) AR ... 9”0 - 05(2)(5’ ngﬂkfl
& & 62. If 36 J of work is done in moving a charge Q
(a) 36 (b) 138 across 8 V, find Q (in coulombs).
() 9 (d) 8 @Y Q ' 8V fawar=¥ arer o
Ans : (a) THT TaIferd foR e @ = x 9 faigett o sfrer Tom=aia & o feam = w e
TEAHR, 36 SIST &, A Q T U (HelTH H) AT il
=>xx8=16x 18 Eag ;6 Eg% 2858
=x=16x18/8 < '
_ Ans : (d) {3 2 -
=x=36
. Teferd iR g = 36 IR ma'aw“(v)zgv
mar =
60. At present, the ratio between the ages of Anu e (Q()W:)? 367
and Dimpy is 5: 8. After 2 years, the ratio of '
their ages will become 2 : 3. What was Dimpy's || g v=X
age before 2 years? /aaura o, 373 % feuft =t Q
3 & ofier T U 5 : 8 ¥ 2 WA &G, ST _w
Y T FIUTT 2 : 3 E W 2 | gt TEut v
o 39 T off? Q=3¢
(@ 10 (b) 16 8
(c) 14 @ 12 Q=4.5%dH
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63. If VX +0.24=1/0.1296 then find X.
TR VX +0.24 =4/0.1296 &, A X T A A
EdiELy
(a) 144 (b) 0.0012
(¢) 0.12 (d) 0.0144
Ans : (d) vx +0.24 =~/0.1296
Jx =036-0.24
= Jx =012
= x=(0.12)
x=0.0144
64. Classical musician Shivkumar Sharma is
associated with which musical instrument?
) F ferq are o= @

Heifera §72
(a) Tabla/dae (b) Shehnai/ IS
(c) Violin/amaferd (d) Santoor/Hq
Ans : (d) 9fsd @ $AR I & S 13 S 1938
F T - HYAR 9RT H A A1 T TH FAW ARKAA
TR A &, ¢ FEIR % g T § e ®9 9 9
HR O Hell Iy ¥ ¥ W 9Rg # &
e @i WU § w twa qfte & fau e @
aRedd T 9 & S 2
65. The author of 'The Monk
Ferrari' is ./ 'g A=k § oS
H AR ovvrrrr B
(a) Robin Sharma/fe It
(b) Arundhati Roy/37&&fd T
(c) Arvind Adiga/3Rfa= 3tfem
(d) Manohar Malgonkar/ L ATt
Ans : (a) T O g Tics el B wF ST 39w @
fSrees owes o vl 81 ;@ A 1999 F SehiR
g ot
e T TE ATE Wid forg — eregfd U

who Sold His
&=t Tt

67. 210 mm x 297 mm are the dimensions of
size paper./210 Tt x 297 fundft
& RIS (UU) ki AT 3
(a) A3 (b) A4
(c) A2 (d) Al
Ans : (b) A4 HIS AN R G 31 smrel fha
S ATl SIS SER (210x297 e B 21) 3
ferped (b) el 21

Al =594 x 841 mm

A2 =420 x 594 mm

A3 =297 x 420 mm

A postman starts from the post office and
cycles 13 km south, then turns west and cycles
10 km, then turns north and cycles 8 km, then
turns east and cycles 2 km and then turns to his
left and cycles 5 km. Where is he now with
reference to his starting position? /Tch BTfeRa,

TR W WIERA TAAHT J[E Hich ST oht
AR 13 forrht wEfeer oeme wmar ¥,
fyer i 3T YT § AR 10 foreft aen dgfere
T ¥, fR ST T 3T goem € X § fenedt
qeh igfeher wretar € R ud @t 3R gear €
3T 2 ferrt ATEfeReT =T o &g U= &8 3R
qear € 3 5 fertfl. en wiEfeRer =TT 1 3t
o ITut g frafa & &t € 2

(a) 12 km west/12 Tl af¥=m

(b) 8 km east/8 o T&

(c) 12kmeast/12T%h'ﬂﬁ‘f#p

(d) 8 km west/8 forHt aftem

..........

68.

* 3 T TR - R e Ans : (d) FI7 F IR 3RG 9 R
66. Find the specific latent heat of vaporisation of : 8km. « ATI. o=
1.25 g of (in Jg™), if it releases 250 joules of i {5 F o ;I
heat when it condenses at its boiling point of 2km Skm. 3.
196° C./ 1.25gm B (Jg) & De— e
=t fafdre T sw F@ wifvg, af ow sEe 13km. 1. 5
FEALATER 196C T HIHT T W 250 [A ST Skm.
Tk et 5 4
qm, g ¢
c .
— || o7 o ag srolt wrfwe fafy @ 8 el ufam Eal
Ans : (b) TE FoAT - R 9 W 5 9ad & THiT s R fem
T 1 Tl URede % U SEvh I i 3 !
erdf & SHEHT FEd %l 3@ L g vef¥id & %I 69. Two resistors of R Q and 60 Q are connected in
Q=mL parallel to get an effective resistance of 24 Q.
o L= Find R./24Q T QT Wiedier Wl &t <k
2 Rl § - m— 125 gm ﬁmRQ 3R 60Q o &Y FfeRIE sl THHICT TH
Q=250 T SIST WTaT 31 R &7 |0 AT SIS
e F (L) = 2 =220~ 500 (a) 48 (b) 40
M 1.25 (c) 56 (d) o4
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Ans : (b) i 2 -
Tt SR (o) = 24Q

R, =RQ
L Ry=60Q
T SRE S GHEA % § Sirer T 8 g9

11 1
_— = —
24 R 60
1 _60+R
24 60R
54— OOR

60+R

24 (60 +R) = 60R
1440 + 24R = 60R
60R — 24 R = 1440
36 R = 1440

_ 1440

36
R = 40
Which of the following is the correct relation
between resistance 'R', conductivity 'O’, length
'L' and area of cross section 'A' of a metal
wire? 'R',
TTSRAT 0", FaE L' AR a1g & aR & iy
AW A’ & TR o e GE Gaier g2
(a) RL=Ac (b) RA=Lo
(¢c) RcA=L (d) o=RL/A
Ans : (c) SR 'R, FTebdl 'O ', T L T 91
AR % 19 T A’ S B 49 T Fad 3
RGA = ]

Which of the following gases is a highly
poisonous, odorless, tasteless and colourless

gas? Eop i)
edelt, e, wred 3T G

70.

71.

73. In the question, two statements are given,

followed by two conclusions, I and II. You have
to consider the statements to be true even if
they seem to be at variance from commonly
known facts. You have to decide which of the
given conclusions, if any, follows from the
given statements./ U9 ﬁ qA HAF ﬁ'ﬂ: "T'I, %
THH g o Trswd 1 i 11 R 1w &1 smuent
HIYAT B T T AT, Ted & o Faard qeai 9
s weftar g 2 eueRt @9 s § fos T o
FHYAT H W i A frewd, afg wiE g, e
HIAT B

Statement 1: Some wagons are buggies.
HAT 1 : FS S ASAS B

Statement 2: All wagons are carts.
e 2 : wef mEh SemmEh €

Conclusion I: All buggies are carts

Toremd 1 weft sirgrmEt S@mTEt 2

Conclusion II: Some carts are buggies.

Trewd 11 : 5 SemmSt Tgrmet €

(a) Only conclusion II follows

Faet fress 11 ey g @

Both I and I1 follow/I 3R 11 &= &1 & & |
Only conclusion I follows

e e 1@ @ @

Neither I nor II follows

TR T & 1 Ar] & 8
Ans:(a)%%%wmaﬂﬁm,

G TR

3TT: hae fThd [ STTHR0T el & |

(b)
(c)

(d)

" 74. What is the diameter (in cm) of a sphere of
(a) Nitrogen dioxide/ T3S STESATHAES surface area 1386 cm’? /1386 |t
(b) Carbon dioxide/®TE SEFEE T et ot o (A ) o 872
(¢) Methane/ e ] (a) 14 (b) 10.5
(d) Carbon monoxide/®ET AHISFIES (¢) 21 (d) 24.5
Ans : (d) FEA FAISTFIEES TH A Telel, TEF, ||| Ans : (¢) AT T & fsar =r¢
@ed, fatell, S # T e gar & SUel IR |||t @ SEwd = dnr?
AT STAeiet 19 81 7 el o % g Srerdt | 4 = 1386
P AHISFIRS H TRAS 97 CO 21 e
72. Find x if the mean of the number 10, 4, 1, 15, 7 B
15, x, 12 and 14 is 10./afe 10,4, 1, 15, 15, x, 12 , 1386x7 63x7
31T 14 T TTEA 10 € AT x T W AT iAW) = oxd 4
(a) 9 (b)) 7 2
) 8 @ 10 2 2
Ans : (a) f&am 2- (2)2
10,4, 1, 15, 15, x, 12 3% 14 &7 917 = 10 91
x=7? r= 7cm
10:10+4+1+15+815+x+12+14 Fa T A A =2 g
80=71+x = ZX%
x=80-71
Xx=9 =21 9,
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75. In the question, two statements are given,

followed by three conclusions, I, IT and III. You
have to consider the statements to be true even
if they seem to be at variance from commonly
known facts. You have to decide which of the
given conclusions, if any, follows from the
given statements. /99 H, a1 seq fou v ¥,
3Tk ag o= fewd 1, 11 27 11 few 7w §
STYRT KT T T HHAT §, T & o FeATT
e | R yefia &9 2N STeRt a9 & §
fow T e § @ W W Prend, Aty @ @,
STTEVT AT B
Statement 1: All flags are banners
HIT 1: Teft g S B
Statement 2: Some flags are emblems
H 2: TP HS Ul B
Conclusion I: Some emblems are banners
frreandl 1: 9 weften forg o= R
Conclusion II: All banners are emblems.
frreerdt 11: weft S wefter forg €
Conclusion III: No emblems are banners.
Toreens 111: =g weften forg o =t 21
(a) Only conclusion III follows

el forspd 111 A1 &

All conclusions I, IT and III follows

fosed 1, 11 SR 101 5t oy 8t

(b)

GEASBI UaE S TR A, BT Ul S, A#
B T Aol § TR A, B T WS & 3T A * B =T
Taea e R A, B Ui e, W PSQ*R#SE
T HAAT &7
(a) P is the father of S/ P, S &I fiel 21
(b) Pisthe sonof S/ P, S & 927 &1
(¢) P is the brother of S/ P, S &1 9§ 21
(d) P is the brother-in-law of S/ P, S &l Hrell 21
Ans:(a) A$SB —> A, B Ui 81
A#B > A, BH 9E 21
A*B > A, B3I A 81
3T PSQ*R#S W IR T W -
pe—I
A

o

Rl
o 21

Farad per meter is the unit of:

g gt Hiex ... 3 3

(a) Permeability/ ﬁ’gﬂ'&ﬂ@?ﬂ

(b) Electric conductance/fa’%gﬁ TeTehdl
(c) Permittivity/ 9Tl

(d) Watt per steradian/aTe Jfd wifeaq

R

S
NG G EE R %P, SH
78.

(c) Only conclusion I follows Ans : (a) B8 3 e feregefier &1 A6 2 |
Faet e 1 om 8 o A =Tehar —> T (S)
(d) Only conclusion I and III follows o TRITRIAT — 294/HieT
Faet fashd 1 S 111 @y g .
79. Which hazardous substance can cause lung
Ans : (¢) BT % HATIR ARG 1 T, cancer? | AT uSd RSl o
T HIUT I Hehell &7
.@ (a) Arsenic/3THfa
(b) Herbicides/TXIAaRARIE (Ef4A13E)
3T hadl fTspy IF[F{_L'@’T[I (c) Asbestos particles/379% & 0T
76.  Find the highest common factor of 506 and (d) Benzene vapours/sSiie aTsq
782./506 3T 782 < HETH WA SAU  |[Aps : (c) FUF F F9 BHE F FH HN 267 o
(a) 29 (b) 22 Sl F RO I ThT g1 TgH F af-wef w9 T
(c) 46 (d) 34 F g FRANES 81 Toaed & od § o9 ¥ 5%
Ans : (b) 506 3T 782 FT 7.3 AN RS, W iR S & B a9 EhY i
SUf’ggé 1 ARSI o1& 1 FE o & T 21
276 35060 80. Ifa—b=5andab= 14, then find a* + b’?
276 gfga-b=53Nab=14 %, @ a’+b> F@
230 276 (U EQiS1
230 (a) 19 (b) 27
230 _ _
T Ans: (c)a-b=5, ab=14
I . = 46 (a-b)* =5
77. I A $ B means A is the husband of B, A # B a’+tb-2ab=25
means A is the brother of B and A * B means A a+b=25+2x14
is the mother of B, then what does P $ Q * R # =25+28
S mean? =53
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81.

Select the option that is related to the third
word on the same basis as the second word is
related to the first word.

39 faereq o1 o= W e vise 9 3t
WehT Weifera § Te Wehr gET 91eg Ugel ITad A
e g

Poem: Stanza :: Book:?
Herdr : B :: T&Aeh : ?
(a) Page/T2

(c) language/¥m™1

(b) Story/FeHT
(d) Printing/ DU

Ans : (a) 9 YR ST F Al HH W Har &
fomfor grar 8 SE YR yel 1 gftnfed W e &
fermfor g 21

82.

Select the option that is related to the third
word on the same basis as the second word is
related to the first word.

30 faoheq &1 o8 & S W g | St
YRR Heifer & RT8 TeRi o oTeg Ueet ITeE W
Heifird #)

Letter: Envelops :: Dagger:?
U : fTmTRT:: Eei : ?

(a) Sword/deIaR
(c) Sharp/8N&R

(b) Weapon/gHaR
(d) Sheath/™=H

Ans : (d) 9 TR @, foes & @ S 81 36 TR

TSR, B | @ 9 8

83.

A trader buys 60 bag grain at ¥ 400 each. If he
sells 18 bags at 8% profit, at what price should
he sell the remaining bags to make 16.4%
overall profit on selling the 60 bags?/Uch
SR 60 SR 3T 7400 TeAeh St i & |
Tiied ¢ Al 9% 8% W W 1§ sEt srerar
g, T SH 60 ST W FHA 16.4% T FAW F

o v st ferm sma W ST =R 2
(a) 540 (b) T 500
() 2520 (d) 480

Ans : (d) 7T 99 T g8 Afar Ix 99 a8 & fewe @
et S 21

60 AT FN BT g = T60x400

60 It F fasha g =

18 3t =1 fasa qea =

37a: I Fft AR w1 e ge

=324000
24000 (100+16.4)

100
=324x1164
18400 (100 +8)

100
= 18x4x108

=24x1164-18x4x108

84.

The bar graph shows all the ingredients (in
grams) required to make two types of salads, X
and Y. If Ingredient B of Salad X is reduced by
100 grams and Ingredient E of salad Y is
increased by 25% then salad Y would be
lighter than salad X by /O UH | o
YR & TAE X 3R Y s & fog etevaes
weft eraEEl @W #W) W guTET WM g OIWR
HEATE X & ¥<eh B @t 100 UMW A T feam sme
i UAE Y % Uk E N 25% Ak e fean

AT & o HAE Y, TE X | ...... TR BT

600
=Salad X

Salad Y

300 300

100

Ingredients

(a) 25%
(c) 37.50%

(b) 20%
d) 22.50%

(60—18)xx = 24(1164-3x108)

Ans : (b) & X T 5% B = 600 I

FH FH & 91€, GAE X & 926 B = 500 IH
A Y &1 92 E =400 T

25% 4 & UL, AR Y H 9<F E

FH B h UL TAR X F FA a9
& & UL TAR y F A aoi

. AR Y B FA a9H, FAR X b A a9 T 5o ¢

37 ety e :ﬂxloozzo%

=400 + 400 x 25%

— 400+400x 2>
100

=500 AH

=500+ 500+ 200 + 300 + 100 + 400
=2000 IH

=300+ 100 + 200 + 200 + 500 + 300
=1600 IH

=2000 - 1600
=400 A

2000

24)((1164—324) 85. If8#12=10;5#9=7;6#10 =8, then find the
X:T valueof 14 # 4. / AFC 8#12=10;5#9="7; 6 #
4% 840 10=8,T%RT 14 # 4 T TF AT ShITSTI
T (@ 5 (b) 3
=4 x 120 =480 (© 9 (d 10
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16800 —10800
Ans: (o fr R, sw12=2t12_20_ 4 S TR A H AT A AT = — =
2 2 6000
5+9 14
HI=——=7=7, 16800
5
6#10—6210 %:8, =1
I IFR 88. Find the value of 5 Sin0 — 2 Cos’ece, if 0 =30°
' 4sd 18 5 sin0— 2 cosec O ST T AT &, TS 6=30" &1
14#4 = =—=09, (a) 2/3 (b) =372
86. Find th (in W) of ; f2 Tift 1 () 372 ) -25
. ind the power (in of a pump if it can lift Ans : (b) 5 sinf— 2 0.0 =130° o
tone of water by 90 m in 30 mlnutes (Assume ns : (b) 5 sin cosee B, ( %)
100 efficiency and use g = 10 m/s’) -+5in30° = —
IW UY i IR (W o) AT shiferg, <t 30 fime =5 5in30° - 2 cosec30°
T 1 29 Uit @t 90 i deh HUT wIET Hehd! B cosec30°=2
(S&TAT Y 100% T & 3T g= 10m/s> ) sl 0o
(a) 250 (b) 500
() 50 (d) 25 5 4
Ans: (b) T @ - T
a8 (h)=90m _5-8 3
g=10 m/s’ T2 T2
S (m) = 1 29 = 1000 kg 89.  Find the efficiency of a pulley system which has
7T (t) =30 fie =30 x 60 FFHTE a mechanical advantage of 2.5 and where the
w _ mgh load lifts by 2.5 meters on pulling the rope by
e (P)= — = f 10m. /38 wvﬁ(gvﬁﬁm)ﬁaw
1000><10x90 Gl y .. 25 ¥ iR it
S Tt @ 10 e wie W ar 2.5 W ww
— 500 af 351 &N
40.00% b) 100.00%
87. An executive earns a salary of ¥ 12,600 every Eig 25 0002 Ed§ 62.50% °
month, and he spends 5/7 of it, If his salary r :
. . L Ans : (d) Ti® A9 = 2.5
increases by 1/3rd and his spending increases
by 1/5th of the present expenditure, what T U = ﬂ
fraction of his salary will he save?
T HHAN o1 ATae dae 312600 §, 3R a8 qu
j— 0
THHT 5/7 9N @ H AT §1 AT IHHT AT a&e_—aqwxloo/o
1/3 91¢ 1T § 3R Tl U adu= @ & 1/5 9 55
T AT gleg BN Wt &, A T Ig U I :TXIOO%
TererT T st e 2 —62.50%
(@) 715 (b) 5/14 90. A and B start to walk from point P towards
(c) 8/15 (d) 7/16 point Q. The distance between P and Q is 9 km.
Ans : (b) FHAN HT AMGH da7 =T 12600 B starts 4 minutes after A. A, on reaching Q,
5 immediately returns and after walking a
o :12’600X7 kilometer meets B. If A's speed is a kilometer
— 1800x5 in 10 minutes, what is B's speed in kilometers
— 79000 per minute?/A 3fR B fog P q fig Q& A
! T I Hd § P 3R Q & ofrar i gh 9
Tl =12600+12,600x ferft 1 B, A § 4 firFie a1 T T Y& o B
= 12600+4200 A, Q W UETH % IE qid 9IUd crear § iR
=316800 e TercirHiet oo™ & o1g B 9 firerar €1 afg A
1 10 fome ® we feReidfier =t ot o wear &
FET g3 T = 9000 + 9000 x — .
g s B & =Irer, femetrete wfer firme # ame st 2
=9000+1800 (a) 1/12 (b) 1/15
=X10800 (c) 1/8 (d) 1/6
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Ans:(a)ﬂ'ﬂﬁ-

ASR T H T g =9+1=10km

A B0 foran 78§99 = 10 x 10 = 100 e

41 B g1 o M g9 i = 100 — 4 = 96 fie
BEN T & T g0 =9 1=8km

LBH A = - L e fe
9% 12

91.  20-2[25% of (15x8+6+12)]=........ ?
(a) 10 (b) 8
(c) 6 (d 4
Ans : (d) 20-2 [25% of (15x8 +6+12)]
=20-2 25%x(15x%+12ﬂ
=20-2 g><(20+12)}
| 100
=20-2 2 X 32}
1 100
=20-2x8=4
92. Which of the following recipients of the

Dadasaheb  Phalke Awat:d received it
posthumously? /f=fafaa & & forE wTeehat

w TN ST WS hieth GUR o

wwTiAa feRaT Ta?

(a) Naushad,/temE

(b) Satyajit Ray/Heeid

(c) Durga Khote/?'ﬂt e

(d) Vinod Khanna/f& g @&
Ans : (d) 3 2018 ¥ g fren aifmar faq == &t
TONGT a8 2017 & 493 € HRd Fow [EER G
T foRam T 3§ RO Q1T WRE Hiesh TR 8
G g9 e (JES FR e a9 1971) T
IR 21 SeoiEdE @ ad 2020 % 529 WRA Bresh
QEER § T(g AT SR IRE 1 GG e T
93.

Two cars, X and Y, travel from A to B at
average speeds of 50 km/hr and 75 km/hr
respectively. If X takes 2 hours more than Y
for the journey, then the distance between A
and B in km is ./ﬁiﬁﬁ,XBﬁTY,W:
50km/hr 3R 75km/hr &Y 3frEa Tfa F A ¥ B
TR I AT Tl 21 A X ol 30 IT | Y <kt
JoT B 2w ITfreh WA WIT €, O A iR B

& e &G o Teret &1
(a) 800 (b) 400
(c) 300 (d) 600

Ans: (¢)TFT Y H A B T Tga # t 90 THT oIl ¢ |
HT: X H AY BTH o § M THT = (t+2) "0 |

o gl fafem 2

it = nt, ﬁ

50x(t+2) = 75xt
50t + 100 = 75t
25t=100
(=190 _ g
25
ara: ofiE g = 91 x I
=75 x4 =300km
The sentences given in the question which
when properly sequenced, from a coherent
paragraph. Each sentence is labeled with a
letter. Choose the most logical order of
sentences from among the given choices to
construct a coherent paragraph./¥3< o few g

o, St St W IR B W, Ueh GEIA
TTE S §1 Y e @ U 18N H
Y AT feRam T {1 TR GEE WOE F
frmfor & fow fog 7@ faereat o & aTeRit @t
HoW TAT(cheh T |

Outside their window there was a vine with
attractive foliage, but it started shedding leaves

one by one as summer passed through fall into
winter.

T Ragal & aTeT Iekd® UTit & WUE &
T Tk oA off, AferT Wff sfra= & ag 94a-
& wdf Tt g€ § T TH-Th W A
Sl
A.

94.

Came dawn, when Johnsy looked out of the
window from her sick bed, lo and behold, the
leaf was still there and it continued to be
there on the following days./:ﬁ% TR ST
foet W Ut g iR R S 9 ST
faget ¥ arex <@ @ oot o off 5 2
B. Finally, only one last leaf remained. Johnsy
told Sue that when that leaf fell, her life
would also go./3Tdd:, T MRGd Tt s T,
St 7 g ¥ w5 s oifm w2,
3G e o o ofd 7
C. The girl regained her will to live and was
fully recovered in a few days./@€® 7 S+ &
AT T=T R & 9 eI 3w @ el F
e 9 3% & T |
A concerned elderly artist friend of the girls,
hearing this story, climbed outside the
window in the bitterly cold night and painted
a life-like at the spot from where the last leaf

had just fallen./cfRal i wh fir e fHfaq
T HABR A T FBEN GHAT, T FSHS T
q § off TR fosdl W g T R I wH
R T H TH Sfad T@R 9 & w@i SAfw
ot 3reft-arft I & o
(a) BDCA (b) DBCA
(c) BDAC (d) DBCA
| Ans : (¢) R T &=t @1 goraRed % BDAC &1 |

RRB ALP Technician (Electrician) 23.01.2019 Shift-I

23

YCT



95. Here are some words from an artificial

@ Tfest St § 9Rady = 3, 06,2500 — 1,56, 2500

language. /T 9T § $S I1e2 39 YR A § =1500, 000 J
unacri means lighthouse 1500,000
unacri Adeid lighthouse 1000000
bancri means lightweight 5 c : =15 M.J i ;
bancri T9E lishtweisht 8. hoose the figure which is different from the
& _g rest./a% TH = S ST T 2l-
banetu means overweight HD \f ACO
banetu HdTd overweight 2) b o e
Which word would mean 'overdrive'? (a Foz ®) ,[ '
fere 9Tsg T WA "overdrive' ERTI? cra ¥
(a) criteh (b) simuna NHZ Z CH
(c) adietu (d) adiban (© |cF D (d) F AN
Ans : (¢) BT 7T %2 I e frspd Freberd 2- AE Q QDE
Una — house, cri — light, ban — weight, etu — over - — —
3 over drive & fTT %2 991 &1 V= adietu &I Ans ;ﬁ(;[‘) T (a) ¥ ‘1;5 ot Smﬁ STTe éo @ St
96. —100° Celsius = Fahrenheit/ i _ ! _ feq e 8!
100" AfTTT = 99. In a certain code DIRTY is coded as 24759 and
o o FOAM is coded as 1863. Using the same code
8 | ;‘3‘(? 83 jﬁ ARID will be coded as . /U
Ams < (a) _100°C=2F # fg S W afg DIRTY @ 24759 iR
' s - FOAM & 1863 o ®U ¥ ot T & ar 36t
o - C:E(F—32)wmﬂﬂm, IS T I Feh ARID & .. * w °
S ferar sm@m
-100 = =(F-32) (a) 9165 (b) 6742
9 (c) 1579 (d) 2489
100x9_ o o, Ans : (b) fem 8-
D I RTY F O A M
- 180=F - 32 N
F=-180+32
F=_14g] 2 4 7 5 9 1 8 6 3
97. A truck of mass 5000 kg accelerates from 25 || 0 3IST F -
m/s to 35 m/s, Find the change in its kinetic A R I D
energy (in MJ)./5000kg FeTH o Ueh g I VLl
25m/s § 35m/s Tk @RA feRar ST ¥ gEER 6 7 4 2
st st & & e uftrd (MJ ﬁ) 9| 100. If the amount received at the end of 1 st and
Edisi 2nd year at compound interest on a certain
(@ 1.5 (b) 1 principle is ¥ 1,350 and ¥ 1,458 respectively,
(c) 2 (d 2.5 what is the rate of interest? /foRdt TAagT W
Ans : (a) T €, e 3R g Wi & 3id H onhgly s W
ZEH (m) = 5000 kg Yo T ShA9T: T1350 31T T1458 &, °F =T <
FRIS 3T (u) = 25 m/s N e?
sifem a7 (v) =35 m/s (@) 12% (b) 08%
| () 10% (d 15%
et St (k) = Emv2 Ans : (b) TR I & AN = 1458-1350
=3108
Ta MR a7 & fog 7fasy e,
| fem o 1 91d o foT Qremer = = Tshafs s
= —x5000x(25)°
2>< x(25) C.I':PXRXT
= 1,562,500 KJ 100
sifem 2 3 forg e et 108:_135?301“1
1 2
= 5><5000><(35) _108x100 _ 8%
= 3,062,500 1 1350
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PART-B : TECHNICAL

An Auto transformer is a /an:

101.

(a) Variable input voltage transformer.
AREA §TYE AleesT I
(b) Automobile transformer
FA0 i :
(c) Automatic transformer
fferfes (Taferd) SiawmmR
(d) Variable output voltage transformer.

IRETHIT P AR ZEHMT

Ans. (d) : U6 WURUIEE (SZHER & gRad-r
e A AR B 2

B SETEER § TR AR A & Wt wehE ok
fgfiash Tu Thet FuecH WEn W £

B 9H Aiee-TRRR T & TR Freed ard ZiHHER
F g | AN B e 7

W 2-TEfRET 9 ZEEER # qar § sieigwER @
aifers serar, et e afie sfemen (z,,) it e dees
form 2 21

102. What is the full form of MPCB?
MPCB T U1 T8 =T &2
(a) Motor Phase Control Board
(b) Motor Polarity Control Board
TIeX Tl sheiet e
(c) Motor Protection Circuit Breaker
e AFH Hiche
(d) Motor Protection Capacitance Bank
e MM AT
Ans. (¢) : MPCB & QU M- Al RaH Tfthe da
(Motor protection circuit Breaker) Idl 2 T 1= &9
¥ "X F A Y § Aey/AE B & U IR g
Ry, SR SR & fAeedet ¥ wERied e s6e
FH & foau sy fear S €

103. An element which stores energy in the form of
magnetic field is.

frefeafiaa & F &9 &1 gew, W TEwRE aF
% WY W el AU AT §7?

(a) Tungsten resistor/ZT L

(b) Eureka capacitor/ZXeT hufliex

(c) Carbon Inductor/®ET FEFI

(d) Nichrome varistor/ eI AT

Ans. (¢) : P eI H ol JEhid &7 F &9 §
Hafed B 2|

U:%le\‘rljf

& L=Tea

I = ferga em
104. Most of the power in India is generated by.

aRe | ARy forselt S i et 82

(a) Hydro power plants/Sict ﬁﬂgﬁ EREIRA

(b) Wind power plants/9a for]a S g/

(c) Thermal power plants/dT9 ﬁl’gﬁ EREIRAR

(d) Nuclear power plants/=Tf¥ehr faegd §2= g/
Ans. (¢) : 9 H 3R fosell Scared A9 faga d9
F g fopan S T ], My ST fawwR, 2018 d% W
39 TR -
adet (57%) > @RSl (14.4%) > 9o () 10% > H9
(7.2%)
105. Which of the following is not true of a 3-phase
Induction motor?

frraferfaa & & S19-T1 3-% JT0T Hiex & fog
e E 77
(a) Star delta starting is required
VR el WIRET 6vds 2|
(b) It is self-starting / 7€ Tsafda &1

(c) It is self-starting and running windings are
required

7E Tyfe 3 AT AERET Savas 2
(d) It has an auto transformer starter
T8 TH 3 ZHEHR TR B
Ans. (¢) : 3-% 0T AT & YRAWH B 8 S ®WR
ST W 1 31T ZHEHR LT 1 AEwahr i 8|
B 359 W AR A OYE B & fou Rl awd
SYSHLOT 1 SETTHAT TE L &
B 3T SIOBR ydas, 3=4 T art 27afq 20HP %

% T Hel WX & T Tag 39 Bl 2

106. The motor used in water pump is
o % Uq § wITh HieT gt 87
(a) Servo motor/dl HEX
(b) DC motor/f&8 &R (DC) AIRY
(c) Synchronous motor/W?*ﬁ (ﬁ?ﬁﬂ?) X
(d) Induction motor/3XUT (SST) TIX

Ans. (d) : T &% 999 § ¥I% HIeX T (TSHH) AKX

BIdt 81 INOT HieX AC UieR ToAE 9X S=erd @it 81 AC

Gk Tl g T O ST § Suetey B 2l

B Tl H1eX F WA TR, FEEL, CD/DVD W 3R
Jafesrd aan Raatr § foram s 21

B I Al # vie el & A |y 9eiE, fgo meie,
sAIeR 3N U9 gefe § q91 9ol /il & ST 5,

TR, Ueliaex gte § foman S 21

RRB ALP Technician (Electrician) 23.01.2019 Shift-I

25

YCT



107. Inter pole winding is connected in series with
which one of the following?
sta-geft (FeX Wier) amEfe, Preffaw § ¥
feraren Tner Sivfiem o G grelt £
(a) Field winding/& afET
(b) Yoke /d1%

(¢) Pole winding/dret arEfEm
(d) Armature winding/ 3R aEfET

Ans. (d) : 3 gAT (32X Uien) aEfET, R aEfET &

T 9ot %u § gafe e 81 fespufada fyoa0 s

(Commutating e.m.f.) MR &/ % Wﬁqﬁﬁ 2

W 3T g9 T8 21 AR g9 dd §, aun 3% Wi &

Eﬁ(yoke)ﬁﬂ@ﬁ%ﬁ?ﬂ@ﬁ%lﬁ

TP A AT FRaUfm aii SN SR S 2

108. The dielectric strength of transformer oil per
mm is expected to be.

TEGHT Aiger  Wega awed wiq findt
........... B St AT Y ST B
(a) 100 kV (b) 30kV
(c) 330 kV (d) 1kvV
Ans. (b) : IHHET e Ft TG e 30 kV (rms)
wfe foedt g =nfew
SER A A W Rugs wmed sed sufem
afgstt W R s @ srafq sTyfs dod § wad
g et 21
109.

The concept of back emf in DC motor is based
on

DC HieX | d Suqus a1 uve foage aesw 9w

T ST SR 8?2

(a) Kirchhoff's current law

ot & o fem W

(b) Faraday's law/&0€ & fram ©

(c) Lenz's law/s & fam @

(d) Ohm's law/3T & fam W
Ans. (¢) : DC A1 # o TS a1 q9= fH0a10 ot
SEURIT oS & fem W e g1 o F R
fordl off o # Scad fH0a10 S gAY W BRH H
fertter et & o9 98 = 3 Bl 7

V=E, +LR,
SEl V=i e 9, B, = a9 SuHUH
[, = 3= 911, R, = 3MH=R 9o

110. The starting capacitor used in single phase
motors is .

TiTer Tt Hed § SUANT foRar S aTe Yade
Hermfisr frefefaa & @ &= 91 82

(a) Electrolytic capacitor/ﬁ@-m gaiia
(b) Timer capacitor/<TgHT Hufyex
(¢) Mica capacitor/ ™Sl HUfHeT
(d) Ceramic capacitor/faRfies Genfa
Ans. (a) : {47 B Al § 3= fHar S aren =T
FURyeT foregd srgsr YR 1 g 21
m RiTer %ol et @ Wi T a8
m e %S @il F W Fufiey, TR A a2y
B 2

111.

The expression used to calculate mass 'M'
deposited in an electrolytic process is.

forelt forga srweret wishen o sraaifua Wt
% FAAE M' & MUET & o U WERR

= &7
(@) M=£ (b) M =Zit
1
7t it
©) M—? (d) M_E

Ans. (b) : foEd oTgeet ufkar ® sr@afyd wmmh &
FEH "M & T T -

M o it
SEEVASCEGRT RIECHCRic

i = fergd & (TR

t =TT (HHhvS )
B e F e e MR soegie WS gen
T A & AT S 2 |

e
112. What is the full form of UPS?
UPS T I <TH &RIT §72
(a) Unidirectional Power Supply
/FAETERETAE Wk g
(b) Universal Pulse Supply/Ia€e qeq T
(¢) Uninterruptible Power Supply/ g Re T
ofeR. TeE/
(d) United Power Supply/JATEe UfaR Twg
Ans. (¢) : UPS &I QU AM-Uninterruptible power supply
21 THH SUAN UH wH W A S @ Sl Wi
T %ot B W off s S e ufd arfe T @ o Tk
feafi T 3= 2t 2
UPS &1 ¥4I Sfiehivra: PC o forq fepam ST 21
113. The range of temperature for soldering is.
Hreeft & o aroar st dior o= 2t §2
(a) 180 °C ¥ 250 °C
(b) 100 °C ¥ 150 °C
(¢) 1000 °C & 2000 °C
(d) 600 °C & 900 °C
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Ans. (a) : Gcsf & faw amme &t d@iwr 180°C ®

250°C T &l 21

m T & fau 93 @ &g o (25-80)% 41 oS

(75-20)% I BT & |

W TR T 3 G F TH A AL F TH T & B

114. What will be the body resistance value of a
person with normal age and health?

R 1Y 3 W@ O Stk o IHT 6
yferIer U 9/ T g7
(a) 0.5 kilo Q (b) 1kilo Q
(c) 5kilo Q (d) 10 kilo Q
Ans. (b) : T 3 3N WEF ARG F IKK F1 A=
1 fpelt 3w & 8|
W Y[ e a6 W B MR 1 W S S 2

115. The working of SMPS is based on.

SMPS &I ShTEquTTe(t T STeTe &7

(a) Frequency control principle

st Fr fasia

(b) Integral control principle/Thighd 0T fagd

(c) Chopper principle/=TaR f&gid

(d) Phase control principle/%sl fa0T fagia
Ans. (¢) : SMPS &I sEvoTel IR fagra weneRa
21 fem dis wfd sMqf (SMPS), UPS & orw .
3myfd (e 230 Aiee) @ fafe=r e @ frafia < #
URaffd @ &1 SMPS # MOSFET & Wi g&d
feafe feareq % w9 # fopar S 21

................

cable ends/Had TS
Cable covers/Faa HaR
(c) cable bends/Fad 5
(d) cable shoes/Hae I
Ans. (d) : F ORI () B Fael I A el S 2
BT Y & B WH W aH & fae #if  a @
AT BT 2|
117. An offline UPS requires.
ATRTE THTH (UPS) i SATegeTehe Bl &7
(a) Battery/at &t (b) Capacitor/S&Ra =l
(©) Inductor/3 I (d) Resistor/Sfaier
Ans. (a) : ShAET THTH (UPS) I It &t awaehel
e 21
W S I ToR AR He ST € Al §ET §EA el
UPS &28l &} 9fel Twrd el AC Wl welid gRue i
U foT Yo S 1 B H 2

(a)
(b)

118. A battery is connected to a resistance of 20Q. If
a current of 0.75A has to be produced, what
should be the EMF of the battery.

T& dedt 20 Q & il ¥ T g8 & 3l 0.75
A Tt U IO kT T A, A el @ fawa

qTgeh et (EMF) feaaT g =fgu?
(a 5V (b) 20V
(c) 30V (d) 15V
Ans. (d) : T 3-R=200Q
E=?
[=0.75 Amp
g
i=0.75A
Ft—__ 200
il
E=0.75x20
119. én example for integrating instrument is.

FEATET geghie 1 TH e ¥7

(a) Voltmeter/aeeHeR

(b) Wattmeter/argHIeT

(c) Ammeter/THIZT

(d) Ampere hour meter/TFTIX Hfa¥ Hiex
Ans. (d) : SEERT (wHe) gRgHe W IR TR
e et 71
B T $ghe S e Mftea sefy as & mh gt
e Al i @t
W 78 THTHfTE JhR H 39T &
B DC & AU designed foar gam 3=t fiex AC W w&am
feFa ST Hebal & Al AC aTell DC W &
it Wiex ot i SR % B 2

1. For AC/DC both commutator moter meter.

2. For DC mercury motor meter.

3. Only for AC induction moter meter.

120. Four cells each of 2V and 4 Ah are connected in
parallel, the net voltage of the battery is.

2 V 3T 4 Ah & 9 Acll sl AUAT kAT o
gt o918 T deh W Fer dieewt feRaAT
Fnr?

(a) 0.5V
(c) 3V

(b) 4V
@2V
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Ans. (d) : IR %9 § deds & U9 gEE @@ R,
et S0t o § O 1 WF GEE T@dl 81 gt sl
F 9ot A § amp-hour F9H &t 8 S&fh TaiaT #
amp-hour g Sl z1

2

2V
Current Control Mode is used for------ .
ST T (T T T T
ferar tram 272
(a) Constant chanrging of Battery

b &t fer =i & fow
(b) Slow charging/#Ht =1fsfn & ferw
(c) Fast Battery charging

e St A =il % fog
(d) Fluctuating Battery charging

Je it ufted =i % forg
Ans. (a) : 9 FRET (B HIe) e & =T a2l B
Tad_ (fRem) =fsfn & ferg fopan ST 21
By & U4 ReR WA & fAu W dieed @ 9@
foreen (Refee) gm0 wofsr febeam Tefm 21
W 39 fafY § 1w o/ & °W H WA AR
B I &I AT F H 1 gHg @, ofr I @
e H gfg gt

122.

121.

In an energy meter the magnitude of flux

varies./STaTdt (QqTiff iew) U UAT ol

TRETT..ccvvveececeeees SEEAT &7

(a) Due to high resistance and inductance
=g oY UE Sehed &f a8 9

(b) Due to the induced EMF in the winding
Fect (AEfem § R fEd aws I (EMF)
F a5% ¥

(c) Due to change in the transformer turns
THEE & FHeel § Tohd (24) B gE d
aRadd i ae §

(d) Due to abnormal currents and voltages

M aSt T diees & a5 |

Ans. (d) : Zeard (Energy meter) H Telad &l URATT
AW G Ta Aees )l aoE o aaed & |

W ST U GHher (SET) e 2

W S % fEfafed fF g 9 g-

(i) SrETer R

(ii) 6T

(iii) Rerifém Ffm

123.

Which one of the following is a dry cell?
frafafiaa & @ ®F-91 I 9 872

(a) Lithium cell/<fifam Ia

(b) Zinc -Carbon cell/ RS- ¥a

(¢) Zine Chloride cell/fSi® FaREs Tt

(d) Silver Oxide cell/faeeR faEE I

Ans. (b) : % FET 97 T I &1 1 T A &
3Tl STEd &1 Teh SHIBR I Bl &, S heig &1 HE
FA 21 UH F Sh qEA W H HEA B DS M
S 2, S TS & & & 21 39 B8 % 9’ AN TH
e HUg & deft H Al S SRS (MnO,), e
(C), TIfTaT FEs (NH,Cl) T 5% FaREs (ZnCly)
& U &1 10:10:2: 1% 3UE § e s S 2 |
W ST 5010 57 1.4 § 1.5 dice e 2l 2|
SRS 3 SOl & & & |

124.

In India, single phase AC wall sockets are
generally supplied with------- frequency.
ara ", e e Tt (AC) afcr diche W

AR W covvvecens Jgfa & YR US=
et 82
(a) 60 Hz (b) 40 Hz
(c) 100 Hz (d) 50 Hz
Ans. (d) : 9d ¥ f@T@ %9 T (AC) dfa Wik |
AR W 50 Hz TR s 3afd 5@ 2t 21
W IR # A g oRedd 3% 1A g,
st
125. In indian households, single phase supply

voltage in the form of.

ORE & w0 U, R e G dieew R

w | g 87

(a) DC voltage/DC Fee

(b) Pulsed voltage/¥dfad el

(c) RMS voltage /RMS acest

(d) Peak-to-peak voltage /f¥Ra-8-fira arees
Ans. (¢) : T # 7 B =g G RMS dieest &
9 F 91 Biar 2|
B RMS (Root mean Square) a7 HIEH T SAEwHE T

FISAT a5 F T 21

max

V2

V. =

ms
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126. Identify the circuit in the given figure.

few 7w forr @ femmy 7w uRuer st ugeme?

¢ ®

(a) Current controlled voltage source
g frifia areest &

(b) Voltage controlled voltage source
e frifia dees &

(c) Current controlled current source
g frifia e Ea

(d) Voltage controlled current source

et fEfd uw B
Ans. (c) : BT 7T fE # g FEfE o7 S akey @
fordt oRuer &1 om0 & fedt 3 uftuy & o W fasl
FAT 2
127. Fusing element of a fuse is usually made of.
fFft wE W WNT Uete 9
................ | & e 872
(a) Copper/ﬂﬁ (b) Steel/z¥HTd
(c) Mica/¥TSsh (d) Iron/dd
Ans. (a) : f5dl RS & HT TeliHe @9 (3=9 A@@E
wered) 1 1 el 2|
W S UF G YR AT T 21 59 Helld el
& oft o § oI S 2
W S AT uheeR F e 2
WS F Id Aeedl dd1 B9 TeHiS H T S
Gl
128. The EMF of a dry cell is about?
I W@ & f9E@ awe O (EMF) T
feRamT g 272
(a) 1.5V (b) 2.5V
(c)2V (d 0
Ans. (a) : I 9 F G0 q0 I@ (EMF) 9T 1.5
dice A1 81 b Hel Hed b el B 21 39 FeA &
31Tl STEd T Teh SHIBR I Bl &, S heig &1 He
H B TH % SN 7L H TH He B DY T B
I 7, S TS F FE B 21 3H TS F AR AR TH
e HUg & deft § Al S SIS (MnO,), HEA
(C), TIfTaT FES (NH,Cl) T 5% FaREs (ZnCly)
& O B 10:10:2: 1% I § fAH 9 S 2|
129. The function of filter capacitor in a rectifier
circuit is to reduce.

fegert uRug & freer  Hafer &
Fl ... BT T T 87

(a) Harmonice/8MI=e (b) Amplitude/3Tam

(c) Frequency/3Tgfd  (d) Ripple/Sfifer
Ans. (d) : REFE (Rectifier) TRyy & fheet Hufge
Fd Sfifer (Rl haet) & &7 &0 & 81 R f
ewer § M seeye gl ®9 § d. T8 I, s
75 T ¥ TE. % o9Ed ff oW a9 1 T o
e # Rud wed g1 o FRwER ¥ WW eeeye ¥
fer S8 y@ $H & fau fheex, aur aRug &1 @M
fepean ST 2, & fheet gerd: HURYeY, Ueat § 9 &
g1 fheex FUfreT 1 F1 fagr 39 TR 3

Xcocl {Xch}
f 2nfe
. % fag,
ATgfT () =0
Xcocl
0
X = Sl X = Huftfeea Ruw=g

I WY WY 8 #E HufeT . & fAu s
femen SR T F oI w9 sfEren weqg e g1 o
RBRR & TRqe | Y= Il o gl

W 3fHEH TeF F AW T W fREEd & faw 1.21

oof o fewand & fw 0.482, B Rwaidr 89 0.48 B 2

130. For the grid synchronization maximum limit
of phase angle is.

firg fisnATESYE & foT % we st Stfrean
i 2

(a) +/-20° (b) +/-15°
(c) +/-30° (d) +/-25°

Ans. (a) : I FFRARSYR % fOu % Gra #t stftesay

g £20° 7% B 2

firg RismTzRYE st arfireran Hiumi-

1. W U £20%

2. fau smefi- 0.44%

3. diezal REa-7%

131. Ohms law states that.
3 =1 foram Ty aar § a2
(a) R=1xV (b) V:%

v

(c) I=VxR (d) I_E

Ans. (d) : 309 &1 Fraw : v@ 6l = & wifas
FET (A, T M) H IRaddA 7 & O Iah & G F
ThT @A T4 f49arR q9r =ieish § sed arell &rT &
3 TS R’ (Constant) R BT 21

%zRﬁi’m’m"
STef, R iy @ fge give o g 2
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132. When resistors are connected in series, the
current flowing through each resistor is.

W YieRiell eht SUfiehd W WA feRar Smar &

Al geeh Fferier | yatied @ arelt & et &7

(a) Different/f¥a-fara

(b) Same/HHH

(c) Same as applied voltage

AN S & THA

(d) zero/[A
Ans. (b) : ST S0 & Sl A § GG R S @
?ﬁsr?%qﬁﬁaﬁwi%ﬁﬁﬁaﬁrwwm@w
B 2
B =R 59 § gaifs gt 9oy R aiees #1 99 U
T B 2|
133. A cable has ? / Ueh hereT H BidT 87

(a) one central core or a number of cores of
stranded conductors

T HT B 1 LIS AAhl & B8 BN
(b) many free electrons / Sgd o TerFA
(c) asolid substance or an insulated conductor

T 3 were 1 ferpaudt =

(d) a length of single, insulated conductor (single
or stranded) of two or more such conductors

M YR & A AT AUS Tl F Twd

forgielt =res (Tha a1 WUST) @ dwEr
Ans. (d) : TF F9d | T a0 a1 & 9 A At
g 8, S T g § Sqg § faraifd ey § @
24 &1 39k W s Iy, dvEn D 30 SR qgr
LT T B 2|

134. Transformer undergo regular maintenance to
check.

TEHET T THEfHd TRt
& & fora feram Strar 37
(a) Transformer insulation
e
(b) Transformer rusting/TE®MHR & ST 7
(c) Tlectrical current in transformer
TimrR # forga e
(d) Transfomer conduction/ZTHHEHR &t T
Ans. (a) : OB & fEfE oTRewm THwER &
foreem &t 9 F & U fFar S g1 giewe &
giEred TR (routine test) ¥ ®Y H IRA H

................

135. What is the ingress protection rating of an
outdoor housing light?

W & T TE T arell @1ge @t Siadee

TR (3 UrearyT) I o gielt 272
(a) 1P67 (b) 1IP65
(c) IP55 (d) IP20
Ans. (b) : R & e S I Il @15 &t aaye
T 1 I 1P6s B 2
®\¢
A X 3| B B Ut
X | #% T 7 2 o e g g
1 |50 mm @ &<t 29 |2 | 15° & W iR @
T F G (3Y) T Y SE W g
2 | 12mm ¥ G| 39 | 3 Wﬁaﬁ@?ﬁﬂ'{?ﬁ
EE I N K |
(3
3 125 mm@ﬁi}ﬁ%ﬁ? 5 Waﬁﬁzﬁﬂ'{ﬁ
g W g
(FRSET)
4 | lmm ¥ & 3G |6 | UMl F ARHIM S
TGS e () o ge
S |2@gEeHfawyga |7 o § 1 Hiex %
F e fwE @ Tol ael g
BN HUT 7 &
6 | g ¥ quf qran 8 |t H 1 e ®
SR gd aEqe @
T

136. Batteries are usually rated in

Fet it T T wi At 82
(a) Watt-hour are-5ieT #
(b) Kilo wattfetare &
(c) Ampere/sec
TfhTeR/HHUS |
(d) Ampere- hourTfFqR-sieT &

A FHE  (individual unit) j@ ;ﬁ?rraﬁ 5eT| | | Ans. (d) : 528 1 1 Gm=E: TRRR g2 § & S e
(operational performance) &I ¥ forT &t St Fret

21 gHeh 3l freT qderor & St @ B R e g = e e X100

(i) Freer SRty 2%, (if) R sk 3w R ST ST

(i) A A AT 9 3, (iv) 359 Areedl wda W e ST el

(v) & ST 2 e S e _ R RS
(vi) FadT T (continuity test) T S X A A dreeal 8
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137. Dilute sulphuric acid is used as an electrolyte in
which of the following battery?
frafafaa & @ feg S 7 faea-swaes &
®U A 7T ORI I HT FANT fRaT S &2
(a) Lithium Cells/<iferm ¥
(b) Nickle Cadmium/fifsher Shefirm
(¢) Carbon zine/&Ta s
(d) Lead acid/ds g
Ans. (d) : 92-THE (Lead Acid) 92t f5dfas Jor
e aeh g 21 R g es wie 3 fT PbO, (18
THTEE) T FOMHS @i & fIT Pb (TT€) T & 2|
TOERIAEe % ®9 H a4 SeRRE oA (H,S0,) YA
feper T 21
B oe-TE ded § qI9craRs v adr g S &
fiysror 1 : 3 % &9 A & 2

138. Which of the following IE rule gives
importance to restoration of persons suffering
from electric shock?

frafafaa & @ &= @ IE fam fosel &

Fesh | difga oFit & YASiiae (SEref) @

e At §7

(a) Cut out Rule 44/%< 313 f1aH 44

(b) Contactor Rule 6/Fi2aex f1aw 46

(c) Switch Rule 37/f= 4@ 37

(d) Energy meter Rule 38/Tsil #iex 4w 38
Ans. (a) : [E (IR faegm) frammer faselt & ses 9
fifed A & AT B e S (99 44 Hge o 2|

IR Rule 54 declared voltage of supply to the consumer.
IR Rule 55- declared frequency of the supply to the
consumer.

139.

Which of the following is a unit of force?

Trrafafiaa § | S |1 5T ol |l §7
(a) Ohms/3TH (b) Newton/=JA
(c) Joule/S[A (d) Volt/are

Ans. (b) : 9 I AEH S Bl 2
Tl = T X 0

2
F=ma Kg-m

q-ll E
Sec

R S A ST S § SEih Sl B qEE ot o ¢

140. A 4-pole, 3- phase IM operates from a supply
with frequency 50Hz Calculate the speed at
which the magnetic field of stator rotates.

T 4-UA, 3-Thsl HIeX 50 Hz g st foea
Yfe (qfeX |AE) WX oeret &1 S| T i
AT Y, T W R @ e & gHaT &2
(a) 1500 rpm (b) 90 rpm

(c) 600 rpm (d) 1440 rpm

Ans. (a) : f&r 2-

P=4
f=50Hz

g Ny=7?

N, - 120f o A
P

N, - 120x50
4

N, =1500rpm

141. Utility pole is a column or post used to support.

FRferdt et e § & Red T 9 &
foau su= feRam W AT Wr (@iew) or
e §?
(a) Overhead fibre optic cables

RRIR weeR 3fiftes Haa &
(b) Overhead street lights

fRIAR At werer weet
(c) Overhead power lines/ AR T%I@ A H

(d) Overhead power lines, fibre optic cables and

street lights /AR A, gL
ek Sheell A AN JehTe gl i
Ans. (d) : FRfHE @ RROR (sfars) foga o,
HIgeR ek shaell A AF JhT @8l Sl TN <4 &
foTT W foven ST AT @R A7 O @i 2|

142. For which of the following reasons are lamps
bright synchronisation preferred to lamps
dark?
frfafad ®# 9 fora avie ¥ geaee &l 9Ee
g farfer ot 1k S forfer wv ardrerar < St &2
(a) Flickering is pronounced

fereteBftm Qe SR 2
(b) Brightness can be seen easily
T YA T 3G S Gehdl 2
(c) Sharper and more accurate synchronisation
eTT T Thaw Heldh qedehiad
(d) It can be peformed quickly
7 ol ¥ HH BT Y& HFHA 8

Ans. (c) : YT T THaw TF e H oo 9

TAFe #1 oee o faf &t e o fafr w sl

& Sl 2

143. The simplest method of underground cable
installation is.

IRt qR e ot gerd s farfar §7
(a) Direct burial/Sel e (SRRTFE ART)
(b) Horizonatal directional drilling

o feefia fefem
(¢) Semi-direct burial

TRt TSR (Sferiae Ffa)
(d) Pipe jacking/W1gq SifehT
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Ans. (a) : 97 AR TrEH # TEH TEH

TETE (STAREE SARA) 2T 21 39 fafer &

Hiex TRl qgr 0.5 Hex A wE @il 9 31 Wi
fort

hidrcd

. At T W H 9 IR 39
%ww@iﬂﬁz“r

444
3| v o0
¥

T S T R W R

144. An inverter circuit is used to convert.
IeT URuer T SUANT feRalT SraT &7
(a) High frequency to low frequency
I=g Tgfa &1 f= smgfa § seem & foe
(b) A.C.to D.C./A.C. & D.C. H g+ & fag
(c) Low frequency to high frequency
f= smafa &1 3= smafd § seem & fou
(d) D.C. to A.C./D.C. & A.C. H 5a & fag
Ans. (d) : 392 IRUY HT 394G DC H AC H T8
fau foFar Sr 21 T omufd s= @ 9 # Refy
AR &d & &9 § LR deial & g3 fHma
ST 81 9l § 9 g arell lE 9EeE: 6, 12 A
24 V S @it 21 39 €Ll & geel g uE. #
Rafdd ¢ ferar s 21
145.

. 8]

In India,
operate on.
AR §, TN SURTUT 3 AR W E=ferd B &7

(a) 120V (b) 110V

(c) 50V (d) 230V

Ans. (d) : 9RG H, T BT WA R 230 V AC
w;mm%wmsﬁ% fShT e T S0Hz + 3%
[iE7 |

146. The watt- hour efficiency of a lead acid cell
varies between----and---- .

household appliances generally

............

(a) 90%, 95% (b) 70%, 80
(c) 20%, 40% (d) 40%, 60%
Ans. (b) : JS-UfIS T F G12-TUT &I 70% 3R 80%
% o9 gRad B 2
n gfﬁ%m@é?ﬁﬁq&qmwm%%@%%ﬁ
|

147. Group of four bits is called as.
=R for & WYE I Fet I 8?2
(a) Bit/fae (b) Nibble/fere
(c) Binary/aTgdt (d) Byte/aTse
Ans. (b) : TR 52 % T8 1 et Fa1 ST 2
W37 5 &% TgE 1 S 9152 el Il 2|
W 1024 918 = | K9
B 1024%1024 a8 = | MB
W 1024 MB = 1 GB

148. How much power does an ordinary mixer
draw?

Trer frerer feRait ferga oifve o 872
(a) 2000Watts/2000 aTE

(b) 400Watts/400 aTe

(c) 100Watts/100 3T

(d) 5000Watts/5000 AT

Ans.éb):wwﬁwmomﬁﬁgﬁmﬁsw
U R

m e § gfaada ey a2

W 3T Tl TH. G AR 7 & T e 2

W 3 T H UGN =7 TA & g At § B 2

W IFEHA e F SFIFEN Al NN, e &,
e WeTh, e @ AE fe e, R 3Ed, @Y

dw e #

149. What is ward-leonard control?
are-ferare o = €72
(a) Voltage control method/areest famor fafy
(b) Field control method /& f=rmor fafy
(¢) Field diverter method/Wiee STgaeT fafer

(d) Armature resistance control method

3R gforry foreor fafy

Ans. (a) : 9€ foamE foemor s aeew faas fafy
2t 1 39% R D.C Shunt FeX & 7 & Pl &
F1 3HH U Hel-SET T & IUAT H

T DC T
L_
I+
ACTET o *ﬁr\ﬁﬁaﬂﬁl-
e T ’
23 1 ] | |
FR frerie
#e . " Rt
oc Fro=s
Iﬂﬁ’! i Cod

T FfE i
m T PR T A F A e # v o
T 3Tl T i e fRar ST gedT 21

forgsi
R e @WE X100 m 5T ST R 5 A A 9Py T # S S g
W T UL SR m e foft agd el a2
IS ShE M —— m ¥fE & aifes et 2
= ufeeR ST T X — T X100 wafy 3
a1 e e et W §lRd v B STaA B &
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150. When electric current passes through a

conducting solution, there is a change in colour
of the solution. What does it indicate?
& forelt anetaRta faeram @ faea e wanted
Bt §, a@ forerem & 1 # ufed @t §1 T
T qeTar 87
(a) Heating effect of current/¥RI &1 s J4Tel
(b) Chemical effect of current
PRUCIREIRICEREIC]
(c) Magnetic effect of current
R T Gahrd THE
(d) Lighting effect of current
YR T SFhTL T

Ans. (b) : B8 I faeEm ¥ fagm oW yaed @i
g, @ faee & 1 § 9Redq O/ & At g9E 9
2T 21

151. A current of 10A flows through a resistance of
10Q. The heat produced is.
10 A St €T ST 10 Q & Yiawrer | yantea fear
ST &1 Seust Sont feait grefi?
(a) 10W (b) 10000 W
(c) 100 W (d) 1000 W
Ans. (d): 1 8- 1=10 A, R=100Q
wa
P = (10)’x10

152. How is heat distributed to the base plate of an
electric iron?

Te ferpaafaa s&lt (Feifage Ima) ot o8|
e (qeft) § 3T foRe yeRw faafia st St 872
(a) Through circulation/aRE=RuT & meem q
(b) Through conduction/=TAq & mem g
(¢) Through convection/HagT & WeAd ¥
(d) Through radiation/fafertur & e q
Ans. (b) : U5 Fgaefod s@l (sofEes omaw) & o9
e # A1 Ao & W ¥ faaia s 2
W e fafr & s o foeeor 5o & g 2
m faferor faftr & wream e gu fomn ag T & S g
153. Auto transformer consists of.
w-uRunfis (3eeam) ¥ gidt &2
(a) Two winding/a aTEfET
(b) Three winding/dH agfeT
(c) One winding/T& aAEfET
(d) Four winding/aR amgfeT

Ans. (¢) : @I (iE-2inr) § us aEfeT 8 2l
B 3{T-ZTHHH &7 TN SO qiel B i & faw o
6 fepam STl 2|

B 3T-ZHEHR ¥ e ¥ diees &1 fadmer fopar
el B |

I~ TIHBTHR T & FUST IHBHL Hi 3TUeT T |

1. 3 wegul HTeA S et Bl 2

2. HH dieedl qRad= 1 T fEegd g 8|
3.Wﬁaﬁgﬁgﬂroncore)ﬁw HU AT 2|
4.%W(Size)ﬁﬁﬂmél

154. Armature reaction of an unsaturated DC
machine results in----- effect.

JWIW DC WIfiA et amHer wfaferamr <&
............... PEICECICE R ¥

(a) Demagnetising/ﬁw

(b) Axial magnetising/37fTd Jrreh

(c) Cross-Magnetising/Sfd-<weh

(d) Two-pole magnetising /?{i%(-%ﬁ)[ relehd
Ans. (¢) : 3HgW DC wei= & omfR uffhar &
RUTEET UfY- g (E-HHERER) Y9E 3
T 2| Tt sk fae aRom wEy g voed gt
BT 81 SR S s 8 sTeR gffRar & 5wR
F B 2
1. ﬁm ameR wfafshar (Demagnetising armature

reaction)

2. Y TR HEX SAGFAT (Cross magnetising

armature reaction)

155. Battery balancing circuit enhances.

Fedt dge uiuy ..., T gfeg wear 872
(a) Temperature/drgHTT

(b) Life of battery/aeft & Sfaerer

(c) Pressure/dd

(d) Concentration/ ST

Ans. (b) : F8 T aRuy @l Jafim gfhe) ¥ sk
& SMamepra § gfg & 2

156. The gel used in breather of the transformer is.
T & Sfet & UgTh ST et €2
(a) Formica gel/wiftiehr E|
(b) Mica gel/HTgaT St
(c) Silicon gel/faferia S
(d) Silica gel/faferr S

Ans. (d) : TTEHER & S F g Sa fafee Sia
i 2|

W STR & R R | 9ged Al arg @ STadr 9
o St 21

B s fofas Sa &1 @ fer au sma it (@)

Sl 1 7 e B 2
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157. The performance of two value capacitor run
motor is characterized by

-39 HAFHST-T HieT & Wevia &t
Fiffeher feram ST §7
(a) Instant reversibility

@Ra fauda (Rader) &t stavaesar g7

(b) Its requirement of low starting torques

...............

Ans. (b) : STHRR fa@ & faw wogw giawrR arfen
TR (A) ¥ VR (Y) B 2, Fif 3 & e ¥ T
el F91 U =gl P AEYFH Bl 21

W =d g Hod ©R GaeH aEfeT § & g )
161. A 10 ohm resistor is connected across a 100V

DC source. The value of current flowing
through the circuit is.

THH e wad ST S STavEashar gR Tk 10 370 o WfeRier sl Tk 100 V DC Eia &
(c) Its ability to start heavy loads WW%IWWQ&W%W 31840
TS I TS I WIS H B GHAT g T A/ B2
(d) Controllable motor speed (a) 100 A (b) 100 A
X & feifm e g (c) 10 A d 1A
Ans. (c) : Z-9cg HURIE-T e & Yaui HI 9 eg|||Ans. (¢) : f&1 8- R=10Q, E=100 Volt, 1 =2
I TR B H ST G aifieha fepam ST 7 =2

M3 d9ofs § s duRd wilfT § wgw g aen
SoFIAEieS T/RY B 2
ltﬁgﬁﬂgﬁaﬁwﬁmﬁawmafmmw
I 2|

158.

Which primary cell has the longest life?
frafafaa & 9 e wafie @@ &0 3suanT

rafir waifires gt &2

(a) Lithium cell/@f@m a1

(b) Alkaline cell/Teshars dd

(c) Mercury cell/ATh{ o

(d) Carbon zine cell/FET e Iet
Ans. (a) : IfFT 9d & YA @y Wufs I §
gaifes et 21 ofrem Ia # fifa dieear amm
2.95 die2 I 81 3HH Yo A% 10 a9 % Bt 2|
159. The heatin

wire./Tch

AT BT 87

(a) cupronickel/TH f&a (e

(b) Nichrome/Tgshd

(¢) nickel/fAfeper

(d) Kanthal/saret
Ansé(b):@ﬁwmwwﬁaq@ﬁnmww
B &
W g # ffber (Ni) @ shiftem (Cr) o1 foror 2 21
W TATHE B dgd dReX § ad ueie b w9 H o
SUANT A B
160.

element in a toaster is made of-----

T AT TEAHE .o HAX

Identify the transformer winding conversion
used for consumer distribution from the given
options.

few Tr fawmedt & @ SRl famur & feg
YI<h TEHMT head (AEET) uRadd @i
uganaﬁﬁﬁ

(a) Star to Star/¥N ¥ ®WR

(b) Delta to Star/S®T § ©WR

(c) Star to Delta/¥ g gl

(d) Delta to Delta/ST ¥ ST

E=100V= R=10Q
I= A 100 _ =10A
R 10
162. Which one of the following is an insulator?
frefafaa § @ = a1 fageiues 872
(a) Iron/@gl (b) Silver/=Ter

(c) Copper/afar (d) Plastic/=ReH
Ans. (d) : @RS fEregeigs gard g 2 |
W U e R §RT 1 Yo e % WY g S @
dleteh (conductors) haedldl 2

B UEr g Y 9 &7 Y91 9 9 &9 q91 TS
T ARk g &, 3Tefereis HEer gl

W T gerd S g/ @ YR T S ¢ Raies @

(3TTeTh) HEelrdl 81

163. The power consumed for balance load in star
and delta connection is.

=R 3T Teer HEwE § HqRT AT @)
for et e wTfw Forerlt Bt 37

(a) V3V,I, sin 0 (b) V3 Vplp cos

(©) V3V, cos O (d) 3V.I; cos O

Ans. (¢) : ©R 3R =T Fa5F | H{fed 9R (AIE) &
o g n

vV, =7 e
[, =dET 97
cos = TIfth TUTH
B I GAleH # ot TE 9 3R wft IR GEeM & i
T A 2
B S GO A AT U Uy g & S @ wife
I 1/3" & S 8
B =R SEOed | af s ufly g & 99 @ uie

SYAIT AT B ST 2
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164. For speed control of a DC motor, which
technique provides speed above base speed?

fe® @ (DC) "X @ i fsT & foag &=
T qerien T T ® 3vfiren e yer et 87
(a) Armature resistance control method
syreR wfodry feeior fafey
(b) Supply voltage control method
o A e
(¢) Field control method/& for fafyy
(d) Supply current control method
3 gry T fafy
Ans. (¢) : {38 9@ (DC) e & 7 femwr & forw e
e (wieg H2ion fafr @ gmr fa 9 el T
e S Gehelt & |
4 fafy § wice arfen & Jvff o9 & & oRadl sl
I fpar ST 21 wies aEfem wRuw F ufdy &
ufafda s emier i faf= wfeaf @ & S 2
Hiifeh—

Noc&
o

SHie e § WY 7 % e qRuy 1 Sy e 9
Hieg 9N %hold: ¥ % M g4 § Tfd 9@ S 8l
3 WE B 6 wiee FEor iy g0 dex & fa ame
T | 3tk & qr S S Wehell 2|

165. The function of capacitor in single phase
induction motor is to

Teher-thel TUT /X (RiTTer el $Sa0e 1)

T WA (hufHey) ot e §7

(a) Reduce the noise/3M &l FF FHTAT

(b) Control the slip/feta &1 fEfa FEm

(c) Increase efficiency/<&Idl JGHT

(d) Provide high starting torque

39 YA el (RIET i) T_H FET

Ans. (d) : THA el 0T Hiex (R B gsavH HIZR)
# guia &1 F1 v @ qarst H G ST 2
THA Fell T A § wifdm deniia 3= yada smvl &
for den W gGurRa s=a < el o ford s R 21
166. Overspeed protection of the diesel generater is

done by :
T TRe ol NaREfis & gew fehdeh g

Y et §2

(a) Alarm/3Tamd

(b) Differential relay/ﬁf"}fﬁ i
(c) Over current relay/31fd 9”1 ot
(d) Governor/Ta=

Ans. (d) : TV SR F TEREdE TER ¥ e #

S 21

m TR T B T e B e e

167. Transistor works as amplifier in
A5 £ SO R qmﬂw % ®Y W e
T 7?2

(a) Cutoff regionH 311 &

(b) Active region®fshdl (Tferea) el

(c) saturation region®gt (STLTF) &

(d) Depletion region3Taer (fewetter) &=
Ans. (b) : ZITRT THFT (Active) & H TRABRR & &9
i e T B
ZifeTeey @ fafi U § yerer Jre—

e S

hTaRET U
ST
fad st
HES arag
fad st
BHEE S

PSR

ms
BIER
SEINE
He A
T (e
Ufed | TrelwRR |
168. The purposes of a shunt in an ammeter is to.

arfiet | 9iE T B .oovvccnnnnn 2?

(a) Bypass the current/ €T T LI BT
(b) Increase the sensitivity of the ammeter
3TfieY Ft Hageierr S J
(c) Increase the resistance of the Ammeter
3TfieY & oy H S
(d) Decrease the sensitivity of the Ammeter
3Tfiey Ft Hageierar S HeH
Ans. (a) : 30T # 3ie &1 H G H TG HET & 2
W 37ieT 9T A9 1 B H 21 39 uRuy % it
# gaifer fepam ST 21

BHEE S
HiES arag
fad stag
fad st

AR |
< Rag
et e

™

m =i &1 sy e g g

169. A spelter used in brazing is commonly made of.
AT § YT WX TTHTTAL coonnnennnnn &7 &1
B ?
(a) Copper base and silver alloy
HO 9 3R AL s
(b) rosing Iron base and lead alloy
U 3T 99 3R o F e
(¢) Lead sulphide/E Tewhizs
(d) Zine chloride/Ri® FNgs

Ans. (a) : 35T F TH WX G HR TH IR

T T fagreng & oA S 2|
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170. The grounding to any device will provide.
et oft SueRToT AT SY-TEHER YT ST?
(a) The highest resistance path possible to the
ground/-FFTeh & T dva sifeeeam sfog
g9

(b) Only positive and negative sequence current
path/Fa SFIES R FOMHS ST G T
(c) Positive, negative and zero sequence current
path/g-TcHS, TUMHSD TA I 3TIHH 4N T
(d) The lowest resistance path possible to the
ground/9-Fr0& & U dwg =Aaw ufrly
99
Ans. (d) : 58 Ft SusRtoT &1 -gegdA, 9ff & fau d@ve
A Sfa0Y U YEH BT g 81 Fifh afe fe of
IYHT H YQW & fRgfa 39 & a1 3= T1 4/ (1)
I-Tmd ¥ fy # =it T SR SusHtor g & S

1
T ox—
Fault Z\L

During installation of a generator, one must
carefully ensure that the generation terminals
and all control wiring are correct so that the
order of--—-- matches the system.

T & TRV & SR, 98 SIauiyds

Fffoem e T =T B ST ¥ zfie

3 weft Frimror et @@ &, e

T TR WUTIEt o W1 W ST 817

(a) Power sequence/¥Tfh SRED

(b) Phases sequence/%ﬁ CIREX)

(c) Amplitude sequence/3TaM 3TIhH

(d) frequency sequence/ 34'@% SRED
Ans. (b) : SR & FRIGVE & INH, Jg TEHHIgAS
TR fe S SR R wReR & afia sk wd
feeiaor arafT @@ &, @6 % eTIHA (Phase sequence)
1 T JUSH & T Al W 2|

172. The colour emitted by a sodium vapour lamp is

wifgam oy (@ifggw aw) dq gRr SRt
YERTIT ST T i &2
(a) Red/aTd
(b) Yellow/drar
(c) White/THhe
(d) Bluish white/=TaT q%hg
Ans. (b) : 9Ifgam a7 (Fifggw aw) oW g S@Rld
ThIST T 7 el BieT B
B SiIfEe o9 TF A dv 3 ¢
m @I & difeaw Ay o &1 &7 A (Pink) 8 21
W GfETH a7 @ 45, 60, 85 T 140 A1 & 1T 34 2|

171.

..............

W TIfEam amg d/ 40 ¥ 50 TgAHT WA d b
I H B

B 39 3 F HEFE g 3000 T0E A 2

lwﬁmwwmﬁwwmtreet
lighting) @ aiteifies sfaeH # fopar S 21

173.

If operating current is between 10A to 100A.
Which device will be used for breaking the
circuit safely?

gfg g O 10A | 100A & sfter §, @
ufluer st QT &1 | 9k & o fau TR
SUHIUT T JANT femam Sram?

(a) MCB /TH.4l3l.

(b) MCCB/uH. gt 9135

(c) Bare Aluminum Wire/TefHf a9 & Gt R
(d) Bare Copper Wire/disl & =7 dR

Ans. (b) : IfE TEGF 91T 10A § 100A & &9 g d
aftae I GG @1 5% & 80 MCCB (molded case
circuit breaker) 3YHITT s fahar S @1

174.

In a DC generator the number of poles and the
number of armature conductors are fixed.
Which of the following winding will give a
higher EMF?
DC e §, et 3t W S smifer e
= g frea gt 81 frafafaa o @ e &
Feelt ITUeTTHa oo Tl ageh o (EMF)
PEERECT
(a) Lap winding/?iq Hecft
(b) Depends on other feature of design
fese #1 o fgaei w ek & @
(c) Wave winding/TT e
(d) Field winding/&7 $eeH
Ans. (¢) : DC SFReX H, ydi & T (P) 3R 3R
=A@ G (Z) frad @ A
1. 99 (wave winding) EET ¥ 39 faoa0 o
(EMF) @1 =1 & ST 81T 21 (A = 2)
2. o9 aEfET (lap winding) § 3=a &1y g1 e
I BT 81 (A =P)
175. The colour of earth wire recommended for
earth connections as per ISI code Is.

ISI ®IE & FTEN J-TWehA Gae= o e

TR AR T A 1 2

(a) Blue/ter (b) Black/@ran

(c) Red/<rdd (d) Green/8U
Ans. (d) : ISI (9RfT A& TM) FIE & FEAR -
T TASH & fU wgw dR @ oFRifad 1 &1
(Green) T 2
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RRB Assistant Loco Pilot

Technician (Electrician)
Solved Paper

Exam Date: 23.01.2019]

[Timing: 12:30 to 3:00 PM

PART-A : NON-TECHNICAL

1. If a>~b’>=53 and ab=14, then find thevalue of
a+b. /aT¢ a’~b’=53 3T ab = 14 A a+b &1 W

AT Wi

(@ 5 ® 9

(c) 12 (d) 15
Ans : (b) TE a?+b* =53, ab= 14
dd—> (atb)="7?

(a+b)’ =a? +b*+2ab
=53+14
(a+b)= V81
=9
2. What is the angle between the hour hand and
the minute hand of a clock at quarter past

three?/wﬁ?ﬁa@%ﬁéaﬁgéaﬁ'{

fire @ qE % S B W P ST 82
(@) 7.5° (b) 8.5°
(c) 6.5° (d) 9.5°

Ans : (a) -

fAe =1—21(3oxsrrra +0) 3

15=1—21[30x3+9]

(a) Antimicrobials/geRsTERIE

(b) Aromatic compounds/@’jﬁ?ﬁ it
(c) Phenols/fTEc

(d) Chlorofluorocarbons/ FARIFAIE T

Ans : (d) FTIRFAR FET S Rd & &9 & (o€
AR 21 S WA STgHSA # Th gael WA §, S
AT Wed W W g1 S W ugeT Rl ¥
R

4. s is

India's sole National Issuing&
Guarantee in Association for ATA carnets (also
known as Passport for Goods").
— 9RA T Ueh AT T WHiekat § 3iR
TET HRAE & WEANT | TR < ¢ (Tegsii &
grEare o ferg off ST e §1)

(a)

Federation of Indian Chambers of Commerce
& Industry /R AT TE I HTE"
Confederation of Indian Industry

IR A aiEs

All India Management Association

g AT oo |

International Resources for Fairer Trade

FevHa REES %R Ba 28

(b)

(c)

(d)

Ans : (a) IRAE ST W& AT HeEw (fhaehl), WA
¥ S TSAT B WY &1 T AR H TLIT G §
St ST Yo awEs (T FRAS) I SRt

15%11 2 T WEA F MU @ 71 TH aEge & geue %
——=90+0 .
w9 7 off S S 2
N g X1 og 5. A diagram is a schematic drawing that
2 shows the relationships in a system, using
165 simple shapes for the entities.
== Lco I T AT uF TET A
15 . Heemsll o foTU WXt SMeRfaal T SURNT I
5 T fereew Wt @ ferar 1
3. Which of the following classes of chemicals can (a) Scatter/Thex
damage the ozone layer? (b) Circuit/dfHe
frafafaa & 9 forg ot & W@EE 9= " () Venn/
T JHTT TG Tehel &7 (d) Block/=ii®
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Ans : (d) TF =i MG TH ASH dF SET 8 S
Heemat o fou WA STfrEl F ST S g fawen
Haiel i femr g1

6. In this question, two statements are given,
followed by two conclusions labelled I and II.
You have to consider the statements to be true
even if they seem to be at variance with
commonly known facts, and decide which of
the given conclusions, if any, follow(s) from the

given statements./ 39 W ﬁ, 'r?f FHUT AT TR
ae ot fserd, 1 ofi 11 few o €)1 enmuehr et
W T TS gU e & €, 9o & 9 e
AR WX AT aedt o e yetd g g iR fauia
= T fou o fawedl § & w9 @, afy =g
&Y, U U wert T uTer T R
Statements/ehe :

No beakers are vases./&hTg SIeht P ISELE &
All vases are jugs./ﬂ‘iﬁ TelqrA ST 21
Conclusions/f-Tshs:

I: Some jugs are beakers./ e S Eicaad

II : Some jugs are vases./ e ST ThelqlH Ky

(a)

Both conclusions I and II follow.
forsrd 1 3R 11, S UreE & § |
Only conclusion I follows.

e e 1 qre e 21

Neither conclusion I nor II follows.
T foreme 1 T & 11 oo e @

Only conclusion II follows.

heel s 11 qTe e @
Ans : (d) 99 F TR 3G 9 T,

forpe - 1. P Wt e & X
2. FB W Gefad & M

(®)

(c)

(d)

7. Choose the letter cluster that is different from
the rest./3® 378 WUE T TG i, ST 3T F
= En
(a) RST (b) MOQ
(¢) KLM (d) EFG

Ans : (b) f5eT (b) § UH-Us a7l &1 3= 8 Saih 3

Toff AT ol § 99§

8. Two litres of superheated water at 190°C is

mixed with six litres of cold water at 20°C. Find
the final equilibrium temperature (in °C) if no
heat is lost.

190°C dmOq= aret ot eftex Afaaw o
20°C AOHE 91t Bg e 38 Ut & |
RrTTaT Srar §1 WS s w7 8w, sifew
A AIH (°C H) A i)

(a) 47.5 (b) 95
(c) 62.5 (d) 55
Ans : (¢) T T, = 190°
T, =20°
m; = 2 liter
m, = 6 liter
TgT % S @I T 8 W, ifew dgem aae e
BT T Jfd
m,;CAT, = m,CAT,
mAT, = my,AT,
2(190 - T) = 6(T-20)
380 - 2T = 6T — 120
8T = 500
500
8
T =62.5°C
9. The area of A0 size paperis .
A0 3THT & HATS (YUX) T AR ..... BT &
(a) lem? (b) 1000cm’
(c) 10000cm’ (d) 100cm?

Ans : (¢) A0 TR & HIS (YTT) FH 8% & [T A0
3R % HITS H TS (cm) H
84.1 cm x 118.9 cm
9999.49 cm’
ara: faed (c), 10000 cm’ T&T foreheq 21
10.

projection is an oblique projection in
which the depth of the object is shown in full

size./ T TAUU TH RReT ya §,
e aegent =t TeUE W Ut eveRR W fewmman
S 21

(a) orthographic/3Tatftheh

(b) fisheye /ftheT g

(c) Cavalier /HaTferaR

(d) perspective /R
Ans:(c)WW@WW%WWﬁ
N TEUE H gl R § fewEn S }1 g9 weuw §
fepeITeT et 3 ot e AT 45° o7 W faest & 2
11.  Henry per meter is the unit of ..........

T afa fier — =t gents ®

(a) permeability /ITCTRICT

(b) electrics conductance /faga TeTehdl
(c) watt per steradian /are S Rifga

(d) permittivity /T
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Ans : (a) T I FeX gESE TRTEA # TR 2
STefeh J¥ehca I TRE g 21 3T: faehed (a) Rl
fareheg 21

12.

Acceleration due to gravity on Jupiter is two
and a half times that on earth. How much
would a 250 kg satellite weigh (in N) on
Jupiter? (acceleration due to gravity on earth =
10m/s”) /geeafa Ug WX THeasii-d e geaft
T @18 AT §1 gt W 250 FoRam. a9 aTet U

SUUE T JEE(e T W WX (N H) fera=r grm?

(&l TR &SI @R = 10m/s%)
(a) 6250 (b) 10
(c) 625 (d) 100

Ans : (a) 32 T FF9H (m) = 250 kg
TN e @107 (g) = 10 m/s”
3 Yol W 9R (W)=mx g
=250 x10
=2500 N

a9 Jewfd W 9R = §x2500:6250N

13. Paracetamol is found in first-aid boxes.

When/why should these drugs be taken?
Yfaemier, waftes faferear ool (WE-TE
Sie) | HiSE Bt €1 39 ganstht @t @ foran
ST =mEe?

(a) To ease mild pain and
temperature (fever.)

7o Td IR JER H FH A F U

To ease the symptoms of hay fever and other
allergies./IIST S (% tﬁﬁ'{) 3R = TSt
& AU FH FH B b T

To bring relief from asthma

TR § e T & g

To ease indigestion and heartburn.

99 Td G § oM F FH F & U

Ans : (a) 8 T 3R FER FI B A & AT
Tfyemie qarsii S o= AR

14.

reduce high

(®)

(©)

(d)

A alone can paint a wall in 50 days and B alone
can do it in 10 days. If A, B and C together can
paint the wall in 6.25 days, then in how many
days can C alone paint the wall?

A 3THAT Teh SR @t 50 ot W U T Fehal
% 3R B 3rhe 3@ 10 fa7 # Uz & Wehet B
gfg A, B 3R C T A1y fiaeres 3@ dar &t
6.25 Tt o Uz &Y Wahd €, A C AT ket 3@

AR & U & T fehaar a0 o ?
() 20 (b) 25
(c) 15 (d) 40

Ans : (b) A &I T & &1 & =%f?ﬂ

B?ﬂ@?ﬁ'ﬁ?ﬂ&ﬂﬂ:%ﬁ:{

A+B+C & T faT &1 &M =éﬁ=r

s C &1 U faq o1 &
:L_(L+Lj:@_ﬂ
625 (50 10) 625 50
4 6 8-6 2 1
725 50 50 50 25

3gfq C el 3 # 25 T # Ham

15.  The hotel Taj Lake Palace, built in the middle
of Lake Pichola, is in which city? /fustem gfier

F LT W ST BE AT e Yo foRe IreT §
T & 2
(a) Udaipur/38aq (b) Bikaner/d&HMT
(c) Jaipur/STIX (d Jhodhpur/?ﬁHgT
Ans : (a) T Tog (S W) 99 & SR, e
Fier # fod 21 gt fomfor agRon S g 7 ad 1743
4w fiaseia o % &9 § 39 Wed & fHEi
FHETT 911
16.

In a certain gear train, the driver has 24 teeth

while the follower has 8 teeth. For every
turns of the driver, the follower turns

36 times.

e fafyem firr 29 ¥, g (geen) fier o

24 T 3, Tefer HeMferd (Thiciisl) R # 8

T T W (FF) & UAw oTFHT h

o, drenfera (witer) firR 36 S gt 2

(@ 9 (b) 12

(c) 4 (d 10

........

Ans : (b) §aferd R @& =
et PR 8 g &t G x SIEeR & Higl ol 9
e feR & il it e

36 = 24xx _ 12
8
17. From a 50-m-long steel bar, a workman has to

cut off as many 5.25-m-long pieces as possible.
What decimal fraction of the whole will be

left? /50m et & i B W, Teh HIATR Y
5.25m TOTE o TATHTS The e ¢l 30 Tt
B3 o1 Teram femmm 91w s (gemers s o

FT hitSw) ?
(a) 0.025 (b) 0.045
(c) 0.055 (d) 0.035
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Ans : (*) B F d=E =50 .
BT F FEA T TH THe H s = 5.25 1.
TS T T =T AT 0
5.25

_5000 200 o 11

525 21 21
EEREIRIEE ) :%(ﬁm)

=0.5238

18. In an artificial language, ‘'terake' means
'motherland’, 'lorake' means 'mother tongue'
and 'loroli' means 'long tongue'.

Which word would mean 'long jump' in that
language?

Teh HiT WTST U, terake' T 319 'motherland’
%, 'lorake' T 314 'mother tangue' % i
"loroli' T 37ef 'long tongue' 139 amer o 'long
jump' % TTT I |1 ITeT BATT?

(a) hudter (b) akezit

(c) dibnol (d) nemoli

Ans : (d) T T Fyai ¥ wm 2

ter — land, ake — mother, lor — tangue, oli— long £

forg 3y 81 31 long jump % T nemoli ¥158 &1 ST

BT

19.

Pipe A can fill a tank in 12 hours. Pipe B can
empty it in X hours. If both the pipes are
opened together, then the tank will be filled in
30 hours. Find X./UT0 A Ueh et &l 12 & o
WX WehdT 1 UTEY B 30 X ©E W WTeit i Wehell
T afE G argw R T Wy @t T W, |/
et 30 T W WX AW X ST W AT shitsTg)
(a) 20 (b) 25

(c) 15 (d)y 24

Ans:(a)WAW@Bﬁ@HﬂW:%

Y B H T 52w =

X
TEY (A+B) T T & H & =31—0
1 1 1
12 x 30
30(x-12) = 12x
18x =360

20. The across the ends of a resistor is

directly proportional to the current through it,
provided its temperature remains the same.

ferdt wferer ot & <fter TEH Warfee
B aTelt ST % SERATIUT BT ¥, S fh
THRT ATIH AT ST R
(a) potential difference/fa¥aiax
(b) charge/3Ta3T
(c) resistance/ SfoRIe
(d) resistivity,/SfeRIerRT
Ans : (a) 5 oy % 0 F 99 fawarR @9
yafed B ATl O % SFRAEIE el 8, Sed f%

TGS A9 FHHE o9 ® |

......

21. If 1,200 J of work is done in pushing a trolley
by 20 m, what was the force (in N)
employed? /afg feoreft =felt wr 20 . =
eehet | feRam Tam & 1,200 J B, o Sman
AT A (N H) AT hitog 2
(a) 30 () 90
(c) 120 (d) 60

Ans : (d) & &-

F (w)=120017

o (d) =20 m

g (F)=?

T, & (w) = (F) x faem= (d)

1200 =F x 20
o 1200
20

F=60N

22. L is thrice as good a workman as M, and
together, they finish a task in 12 days. In how
many days will L alone finish the same task?

L, M & = AT 31fres & h¥ar § i |
firerent & Wk w9 A 12 Tt ° U e € L
atrer st T R Feeery R F @ awe?
(a) 16 (b) 32
(c) 48 (d) 40
Ans : (a) T L 5 & &l x o § e 21
a8 M 3t &M & 3x fa7 § wam)
I 1 1
)
3+1 1
3x 12
. 4x12
3
x=dxd4 =161
L 37t 3°T B I (x) = 16 & & Ham
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23. Moore's Law is a rule of thumb stated by Intel
co-founder Gordon Moore that the number of
transistors on a chip doubles every ..... months.

X T oW $eoT & HE-UUsh Med 9¥ g
HE AT Tk A fam § fR e oo w

Zifweey &l 9@ W —— WEHT § gt &
el

(a) 12 (b) 24

(c) 18 (d) 30

Ans : (b) T I fom €27 & He-TeUs MET T g
1965 # Srecieht foan a1 Wb e @ S e @ fo
T IR sl S B 24 WA § A 2 S 2

24. A/ An is an interface on a computer to
which you can connect a device.

— U® UHT $e0hE § W HPEEY @t Rt

I | WigA o forg geamrer feram s €

(a) port /qre (b) array /R

(c) anime/TATH (d) dongle /EITa
Ans : (a) T G F TS fHd oFf AT B Frge
@) F qe Sed & g e st 81 3 e i
THR % A feag 9 : eEfews, S W qu
T fEargy s9-3t o€, w=g, fiey, wifret anfs &
TEERE § Fde W g1 We Y 3N MBI TeThy
e HAT 21 S fAE # TEHHd SUH, ged
IUHT SN FTE dah b Y HHfAhe HH & 1T
YT 2|
25.

A boy of 50 kg is riding a scooter of 100 kg

mass at a speed of y m/s. Find v (in m/s) if the

kinetic energy of the scooter and the boy is 76.8

kJ./ 50kg ThT Ueh TTgehT 100kg STHTH Tt Ueh

THeT T V.m/s Tt T W TAT T&T Bl AT WheX

3R gk W fas St 76.8kJ B, @ v(m/s W)

R T ATA HifTal

(a) 32

(c) 40

Ans : (a)

TSh TN Thel H ol S = (50 + 100)kg
=150 kg

TIferst el = 76.8 KJ = 76800

V=7

Tt Fe (K) = %mvz

(b) 64
(d) 80

:l><150><v2
2

_ 76800
75

V' =1024 = v =32 m/s.

76800=%X150XV2:>V2

26. If14#2=280,10#4 =70 and 20 # 6 = 130, then
find the value of 8 # 12./9f¢ 14 # 2= 80, 10 # 4

=70 3T 20 # 6= 130 =, AT 8 # 12 T |1 AT

EdELy
(a) 4 (b) 2
(c) 100 (d 10

Ans : (¢) 59 5K,
14#2=80= (14+2) x 5=80
10#4=70= (10+4) x 5=70
20#6 =130 = (20+6)x 5 =130
3 R,
8#12=(8+12)x 5=100
Henry Cavendish discovered

1766./3 Rafgsr ¥ 1766 &
EAfl
(a)
(b)

27.

........

helium/ e
chlorine/FA

(c) oxygen/3ATHSH

(d) hydrogen/gEgISH
Ans : (d) 370 Faf=w T 1766 # eESISA 19 F TN
F1 T T A W T GRS I B sl ¥
W fope o o e A A oT1 1883 ¥ war
T TR A FESNH W Hifh I8 e & qY
EREASS AT il
28.

Select the set of letters that when sequentially
placed in the gaps of the given series will
complete the series logically./aT&Tﬁ % 39 U

o TaT WY, R wie vu ¥ & T enw
e & feh Wl § @ 9O W ST oy

ATfeher BT | YU
a_yz _bx zc_cx_z

(a) yxbcz (b) xybcz
(c) xbycy (d) xybey

Ans : (¢) & T sf@ern e 2-
axyzbbxyzcccxyz
méw%ﬁwwﬁ%wﬁwmz xbycy 9
ST |
29.

Which of the following gives the correct
relation between power 'P', resistance 'R' and
charge 'Q' flowing through a wire in 't'
seconds? /fr=feiflad & | =IT @1 vk 'P',
giedrer 'R’ 3R 't WehE W U AN 9 yaned
JATAYT 'Q' & Ser & W Taler sk FTHAT &2

(a) PR=QIt (b) PQ=IRt

(c) PI=QRt (d) Pt=IRQ

Ans : (d) TIF P, SR R 3R ¥ ¢ # qR 9 arfed

&Y 'Q' % e e Wy Pt=IRQ 2|
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30. are a subset of air pollution that refers

to the tiny particles suspended everywhere in
our atmosphere.

................. AT YHUT T Teh SURTSA (TEHE)
21 S TR agHed § ¥ WE HiNE Sie-ue
HUT Bl Heia T B
(a) Humus/qHH
(b) Genomes/ ST
(©) Aerosols/@@ﬂ
(d) Loam/3me firgt
Ans : (c) TUHIel 9Tg SEI0T I U SUGTE (FIHC) @
S gUR agHed ¥ & S e SRe-8ie HUll H Hafia
AT 21
31.

Find the third proportional to 24 and 60./24
3 60 o foTg Fefremgurdt Ja it

(a) 150 (b) 120

(c) 144 (d) 164

2
Ans : (a) 9T §&A1 a, b 797 ¢ 1 FAFEIT _b
a

(60)° 6060

T JTAEN =~—— =
24 24

A truck travels 450 km in two and a half hours.
Find its speed in m/s.

Teh <k o8 ue U 450Twdt. =t o wear g1

=150

32.

TR =TT m/s W AT iU
(a) 60 (b) 90
(c) 50 (d) 75
Ans : (c) fean 8
e t:2%ﬂ'ﬂ'§
_dgw
2
gl s = 450km.
3 A :%
:?:lwkm/h
2
—180x >
18
= 50m/s

33. Find the resistance of the wire (in kQ) through
which a 5 mA current flows when 500 V of

potential difference is applied across it.

I AR & gy (kQ ) 7 Hive, e w
500V =T fawar=r, iU fery o= oX @0 &
SmA St LT FETiRe Bre 21
(a) 100 (b) 25
(c) 100000 (d) 2500
Ans : (a) faam 2
fasam=t (V) =500 V
g (I) =5 mA
=0.005A
FfeRie (R) = 2
T S 2
V=IR
500 =0.005 x R
500
©0.005
R =100000 Q
R - 100000
1000
R =100 kQ
Find the least common multiple of 56 and
50./56 3 50 ST ALTH THIAE FTA SIS
(a) 1400 (b) 800
(c) 700 (d) 1500
Ans : (a) 56 3N 50 & @.9.9.
56=2x2x2x7
50 = 2x5x%5
3 .. = 2x2x2x5x5%x7 = 1400
35.

kQ

34.

What is the area (in cm’) of a regular hexagon

of side 10 cm? /10 |, ST AT Teh THEEHST

T ATHA (cm’ H) AT A2

(a) 15043 (b) 3003

) 450V3 d 753
J3

Ans : (a) *c GHYCHS <hl FTHA :6><T‘ﬂ?ﬂ2
-, @ &ha :6x?><(10)2
3

=6x—x100
4

=150/3cm?

Find the heat capacity of a steel vessel of mass
2.5 kg if its temperature rises by 10 degrees.
Specific heat capacity of steel is 500 Jkg_lK_l.

2.5kg FEUH AT Teh LIl o oid= ol AT

ITRAT AT SHITT, IS THek arad= | 10°C
gy Tt 3 <o @ faldw swm enfar
500Jkg 'K &

36.
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(a) 1250JK! (b) 20Jkg 'K’ 38. The weights of three boxes are 3 kg, 8 kg and
(c) 200Jkg 'K (d) 125JK™ 12 kg. Which of the following CANNOT be the
Ans : (a) f&am 2 total weight, in kg, of any combination of these
SHAE (m) =2.5 kg boxes?v ’
T 3 (AT) = 10°C = aterat am a9 3kg, 8kg aﬁw}zkg 2l
RRTE ST IR (c) = 500 Tkg k! frefafad & & &= @, 39 ot § foet o
ST F HET (Q) =2 AT T kg H THeT a9 &l & qehell §7
Q= mCAT (a) 21 (b) 20
=2.5%x500x 10 (c) 15 (d 23
Q=12500 Ans : (a) §99 S -
mngwaﬁw (i) 15> 12+3=15kg
T 3fs (i) 20 —> 12 + 8 = 20 kg
12500 _ oo it (iii) 23 — 12+ 8 +3 =23 ke
10 21 kg €t ot 9o ¥ 3ot o T & wHaT 21 37
37.  Find the mass (in kg) of kerosene filled up to | |fHcT (a) W& gl
the brim in a tank of dimensions Smx2mx1m. | 39 Choose the figure that is different from the
(Density of kerosene is 800 kg/m’) rest.
6cmx8cmx5cmﬂTﬂ3ﬁT1.92NW3|1ﬁ WWWWE&,@WW@
THSt & Tk <he 1 g9 (kg/m® ®) A st 2N
T (g=10m/s” &)
(a) 3000 (b) 300 P OR Q M R
(c) 8000 (d) 800 @ |[MWwWK (b) X HO
Ans : (d) f - H X Q K WP
AFAT (V)=6cm*x 8§ cm x 5 cm
- 240 K WQ HM R
1000000 © |ROP (d) x Qo
LB 1 MX KWFP
100000
T (W) = 1.92 N
TEEIEERT (g) = 10 m/s Ans : (¢) famed (c) # 37 fomedi & i © avf [ 1%
¥4 w=mg 3N & o1 I8 I foehedi § frt 21
1.92=mx 10 2
192 40. Amit calculated —th of a number instead of
m —_ '—
10 calculatin 2 th. His answer was greater than
ing — th. Hi
m=0.192 kg wating 15 wer was g
S (m) the correct answer by 336. Find the number.
@= I 2
(v) aftr 3 forelt dem & S d el @t o
15
0192
24 T H AE TR oF R # T #h
100000 5
q 0.192x100000 IR I -{qﬁ Sk '{5 336 2feres em qg "4t
T (d) = —————
@ 24 A i)
_ 19200 0 4oy’ (a) 1008 (b) 1260
(c) 1344 (d) 1680
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Ans : (b) 9T o1 & = x

TRAMER,
gx—lx =336
5 15

(6-2)x
15
4—X:336

15
336x15
X =
4
= 84x15
x=1260

=336

3 enfiE & = 1260
41.

Two cabs A and B start from town C for town
D. If the distance between the two towns is 540
km and the slower taxi travelling at an average
speed of 90 km/hr takes an hour more than the
faster taxi, then find the speed (in km/hr) of the
faster taxi.

o TrEAt, A 3R B, I C ¥ I D & fauw
T Y& AT 1 Al S IRl ok Sfter @
T 540km B 3T 90km/hr =t frEd ¥ wreT
eftefy ifer & oo areft et R A f | T
aTeft TET g W ek we STfireh WHI T
g, @ 99 T ¥ weM et e @ e

(km/hr ®) FTH ST
(a) 99 (b) 126
(c) 108 @ 117
Ans : (c) T 91 Tfd § Fe arett ME S A
=x km/h
TRAAER,
540540
90 x
= 6—ﬂ=1
X
= ﬂ:5
X
= x:%:IOSkm/h
37d: A T arell MET S W = 108km/h.

42. If SinO = 12/13, then find the value of
2Cot0 + 13Cos0.

Ifg sinB= 12/13 B, AT 2cotd + 13cosd HT AT

Ans : (b) sin® =2
13

0 B

A

AB=+13%-122
=5
3d: 2cotO+13cosO

5 5 cotG:i
— X 13x= 12
12 13 5
cos=—
13

:§+5
6

35

T 6
If the median of the numbers 9, 15, 1, 15, 14, 9,
4 and X is 11, find X./3fe "@@&@w= 9, 15, 1, 15,
14, 9, 4 3T X T WILHRT 11 &, @0 X &1 0=

43.

AT ShitTl
(a) 12 (b) 10
(c) 11 (d) 13

Ans : (d) &3 T 37hSl B ARE HH § aftyd &
q(_
1,4,9,9,x, 14,15, 15

A U= (n) =8
D3 92 @ Hr:r+(n+1j€ﬁ 12 F OF
e = 2 2
2
1= 9+x
2
22 =9 +x
x=13
44. Choose the word that is different from the rest.
I IT6E T T R, I 3T W et &
(a) Stream/9
(b) Pool/Yet
(c) Pond/drelid
(d) Lake/3a

Ans : (a) 9T 3 § o § Fif% 9 98 gL A &

T ST
(a) 25/6 (b) 35/6
(c) 58 (d) 15/8

E 9T € Safh 3 38 gL UM o BRI a2 |
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45. If '+' represents 'x', '=' represents '+', '-'
represents '+' and 'x' represents '-', then find
the value of the following expression.

afg '+, 'x' @ e| war g, O
foreftra et & ', '+ & Feia & 8, 3]

%!, ' @t Trefua a=ar g, @ fetatea

SSTeh ahT 1T AT ShiaTT|
8+4+15-3x1

(@) 10 (b) 36
(c) 14 (d 17

Ans : (b) 9 & IR fogl i wfafia w3 -

8+4+15-3x1=8x4+15+3-1
=32+5-1=36

Which of the following is an example of a

second class lever? /fAfaiad & & &= @1
faefter gruft & S<ieter T STETuT 87
(a) Ice tongs /% 33 & T (3mEH 2im)
(b) Pliers/w™AX
(c) Wheel barrow/T dfgT & I (e éﬁ)
(d) See-saw /d-Hf
Ans:(c)%ﬁﬁﬁﬂﬁaﬁm—sﬁaﬁ%mﬁ
A AN A F A9 IR Red e 21 T THER F
Serht § s A Ted U § 31 B
30T AT, i e # 79 2R, 3o el
3r: faded s ufew @1 e feda gvft & S #:;
IR 2
Yo 9ot % IR B IAEW- A, FeR, F,
g, @-97 smfe)
T guft & STl F IER- fmel, WA & T
EelEe

46.

47.  Acceleration due to gravity is highest at
THESA(T T ... T G Bl &
(a) the poles/ ‘%Fﬁ
(b) the equator/ ‘{%‘ﬁ@T
(c) at an infinite distance from the earth
gt § d g W
(d) the center of the earth / E%ﬁ F F=

Ans : (a) TR T (g) F 79 gt & F5 ¥ g &
SFTER ST FEdl 8, 74 39 g F dgd W Ig T &
3R gl T W A g1

48. The specific latent heat of fusion of ethyl

alcohol is 100 Jg'. Find the heat absorbed (in
J) by 2.25 g of ethyl alcohol when it melts at its
melting point of -114°C.

T 3Tehieet o HTa= i {9 T oA
100Jg ™! &1 3® Reafar # 2.25 T TRIET TeehigeT
BT STIINSE ST (J W) Fd I, & 98
BTk eI —114°C X Trererar €
(a) 311 (b) 45
(c) 225 (d) 100
Ans : (c) &= 2,

SHE (M) =2.25 gm

fafme e = (L) = 100 Jg '

S (Q) =7

SH(Q)
STHTE (m)

100=-2
2.25
Q=2.25%100
Q=2253d
The sum of binary numbers 1100100 and
1101110 is /AT GEnst 1100100
3T 1101110 T =T
(a) 11001000 (b) 11010010
(c) 11110010 (d) 11100110
Ans : (b) STE0 TS 1100100 2R 1101110 &
I 11010010 21

50.

-+ fafre @ o (L) =

49.

.......

If a vendor sells a coconut at I32, he incurs a
20% loss. What is the cost price of the coconut?

Tfe g fashar e AT F T32 W S €,
A W 20% T T BT 1 ATRAST 1 7T T
A RITT?

(a) T44 (b) 36
(c) 48 (d) T40
Ans : (d) 79T TIRIS &1 T T =3 x
B =20%
fesha qea =3 32
xx(100—20):32
100
XXSO:32
100
x=22210_z 49

¢ 51. Even if it seems to be at variance with

ydl T B A qHEA @M ST T ST (T B o . N

e " O commonly known fact's and decide which o

¢ g%ﬁ ﬁ 3B ¢ il ¥ the given assumptions is/are implicit in the
5 ﬁ @ 38 5 2l given statement.
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Teh HIA AT SHeh AT o @RS 1 317 11
& T T TR HUAT R G WG g FTOR
AT, Wl § o AHAR W AT Aqealt A R
ydta @ @, iR fuiw W @ f e
srgarume ¥ i ot fow e we # fafgw
/&

hd/Statement: 'Height should be between 5

feet 6 inches and 6 feet.' —One of the conditions
for recruiting fighter pilots.

TS 5 HIT 6 T9 ¥ 6 WIS o o EHT =mewl
ThTgEX UTqeTel sht oTeff ok foTT wes o1
STMTYURUIG/Assumptions: 1 :

should be presentable as they are role models

for the young/ThIgeY UTICIEl ahl 3MTehbeh EIAT
=nfew, wifs & gansi % forg amest R

IT : Only certain body types can fit in a fighter
plane cockpit/haeT ES IR YRR aTer T

& WIgeT WA & HiTUe | ihe & Fahd B
(a)

Fighter pilots

Only assumption I is implicit.

ool SFaeToT 1 fafa 21

Both assumptions I and IT are implicit.

[ 3R 11 & A1 SfaErong fafed 81

Neither assumption I nor II is implicit.

T A STEERen 1 3R 7 & 11 Al 7

Only assumption II is implicit.

A STFHROT 11 ffeq 21

Ans : (d) RT TC Fo7 & Faor ghuron 11 s<rRd 2
Fifh FER W TAH & fow s Afved qwE @
T T AT @ qdT QUi 19 € 2

(®)
(©)

(d)

53. By cycling 7/9 times his usual speed, Anwar

reaches his school 4 minutes late. How many
minutes does Anwar take to reach school at his
usual cycling speed?
U W AT | 7/9 A AT W AigeRer
TR, IR 4 fime < § oTu whRer ugwen
Bl IR W AUt W ol | WigfeRed
SR Thet Ugo | fehaa fire o €
(a) 14 (b) 20
(c) 18 (d) 16
Ans : (a) I 3R F HNT IA x  q9 U A G
Thel G o T ¢ 2
T v gl T g

st =s,t, &

th=%xx(t+4)

Ot="7t+28

2t=28

t=14 fiFe

3 A H WA AT § Tpel 9gad § 14 fiee
o 1

54. Which of the following nations is NOT a
permanent member of the United Nations

Security Council? /f=falaa & & shi= |1 g
TgTh T TIeT UReg o Tl weer TE 872

(a) China/dH

(b) United Kingdom/JAEeE fehren

(c) France/%i¥

(d) Germany/ Sy

Uyl

52. If 90 J of work is done in moving a charge of Ans :(c) WIH T e O, I T % T S
2,000 coulombs across V volts, find V. LR
e 2000 FATH AT H V diee favaraw || 15 Tewl § § 5 wrh g ¢ e 10 swerh
e @ fergett & Sfer wamEaRa we § fewer qe= Bl
T S 90 ST &, AV T /I AT i) et wee -
(a) 0.2 (b) 180 1.9 2. %9 3,89
(c) 0.045 (d) 2,250 4. FAEeE fhrew 5. @YF TT
Ans : (c) 3TET (Q) = 2000 FHeH AT IFTRft Wew
HrE (W) =90 St 1. 37t 2. WRA
fveam (V) =2 3. S 4.
W (e 5. Afergent 6. SITSict
V)= ﬁ 7. 7 8. e
90 9. & 10. g 3R S
2000 55.  Find the missing number in the given series.
9 & 7E Sroft ¥ oo W A Wik
~ 500 2.7,-2.1,-1.5, —0.9,-0.3, ?
_ (a) 0.3 (b) 0.4
V = 0.045 A1 (©) 0.2 @ 05
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Ans:(a)?ﬂiTs: Q’Uﬁﬁmé-

27 21 -15 -09

I

06 106 106 106
3

56.

-0.3

o B

+0.6

Find the mass (in kg) of a tank completely
filled with kerosene of dimensions Sm x 2m x
1m (Density of kerosene is 800 kg/m*)/

5mx2mx1mﬂTﬂﬂ1ﬁ'&Tﬁﬁ4¢[ﬁ‘{&Wﬁi‘§E

Tk 3ok T FIHH (kg W) AT ShifsTa) (SR
T T 800kg/m’ &)

(a) 8000 (b) 1250

(c) 800 (d) 12500
Ans: (a) v I =—
3T Iaq

s KIHE = ¥dd X A
3 HAHH H FHAE = 800x5x2x 1= 8000kg.
57. Which Dadasaheb Phalke Award recipient
produced and directed India's first colour film,
'Sairandhri'?
fore TETERE itk YUK farsar 3 WA @i
Teelt T fopew, ‘Qielt’ @ fwtor we frdem
fera?
(a) LV Prasad/Tadl J41§
(b) Birendranath Sirdar/sSREATY GHR
(c) 'V Shanta ram/dal STARM
(d) Sivaji Ganesan/R¥marsit RENE)
Ans : (¢) & I I[ETHRET e [UER fasiar 4 9
F Teeht T fbew, Tl &1 fmfor we fdem fepam)
58.

Classical musician Vilayat Khan is associated
with which musical instrument?

e wfider foaemad @ fme arRs |
Heifere 872
(a) Flute/sigld (b) Sitar/fHaR
(c) Santoor/FT (d Sarod/TIg
Ans : (b) fae@d @f AR aeq & foe faema 81 3=
fqar areT #t R v e, mae v, fastad
i ot |
59,

If the compound interest received on a certain
amount in the first year is ¥1,440, what will be
the compound interest for the second year on
the same principal at a 10% rate of interest?

gfe uger od H ww fAfdua it woyma
Tehgfeg S T1440 ¥, A 3H gEEE W 10%

Ans : (a) T8 @9 & =halg =N =X1440

n
CL=P [1+Lj -1
100
t
1440 = P (1+£] -1
100

10

= 1440 =Px—
100

= P=%14400
T W W & AT qares
= 14400+1440= 15840

1
3a: Y =shgfs oA :15840{(“%] —11
15840 %2
100

=%1584

60. Which of the following is NOT a derived

unit? /frAfarEd § & i W Seae gohE
=& 7?2

(a) Mol/Hra

(b) Volt/aiee

(¢) Radian/AEa

(d) Lumen/ @T‘f

Ans : (a) ST TS - Hifos T B =F FA 5 L
¥ SR eI TBIZAT b1 TS gie & |
7 9t TRt @ S ST ged gehEaAr 21
e ivrEt
T SI oAt
A - fohetam (kg)
[z - e (m)
D) - TFHTE (s)
uaref & AT - T (mol)
AT - HeaT (k)
ferga & - TR (A)
& e - el (cd)
a7 fashed (a) 96 fabe € A1 o TR A A
T IHE |

1

61. If 2—z(z—sx—l)=§then the value of x is

T ht o W e o % T wehafs s aﬁiﬁ—z(g—l}l%,?ﬁxwm ...... 21
Teham grm? 3 25 3/ 3
(a) T1584 (b) 1540 (a) -5/14 (b) -25/8
(c) %1554 (d) 1512 (c) 25/8 (d) 5/14
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Ans (b)5_X_Z(2_X_l):l Ans : (d) - 8 T & HI T =35
205 3) 3 5
. S 7x 71 1@%%&@:?5
3.5 6 3 qF: 57 7 foha goa =38
N 25x-21x 1 7 ]
T 15 3% 1 =7 1 fasha g :?g
- &x_2-7 8 s
56 I A % =_8x100
5 15 25 ' TS
= =—X—=—— =
6 4 8 8
62. A uniform meter scale weighs 50g. It is pivoted 64-25
at the 70cm mark. Where should a 40 g mass __40 00
be placed so that the scale is in equilibrium? a 5
Teh TehEH e YU (Thet) &t o 50g B 8
W 70cm & 9T W Rt T ¥ 39 W 40g 39x8
= %100
TSI ki el W W@ AT S0y, Ak a8 40x5
| i 3T | w7 =39x4 =156%
(a) Atthe 45 cm mark /45cm 3 e W) 65. Tv.vo numbers are 10% and 20% less than a
(b) At the 25 cm mark /2 Sem BIOTH W third number. By .what percentage s.hould the
second number be increased to make it equal to
(c) Atthe 95 cm mark /95cm % fem W the first number?
(d) Atthe 5 cm mark /Sem % FeIH W T HEATE U e e ¥ 10% 3% 20% wW
Ans : (b) FreEE § - B T G I UEel S & SHeR N H
2m=0 et feramr wfereTar srgram s =nfew?
40> x =20 50 @) 10% (b) 7.5%
= 20x50 () 12.5% (d) 8%
40 Ans : () AT 998 TE = 100
X = 25 cm . 10
63. In an engineering drawing, which letters Tecll §&1 = IOO—IOOXE
written on the dimension indicates that it is ~90
extra  information and NOT really 20
required? /Ueh SSAfafiT gEw ®, fammen o THd HeEm =100—100xﬁ
fo@ T e | e1eR Ug 3T wa € TR O 30
TR SRl § T Aedel § STeVeeh || a7q: qoclt G — qafl g
& 2? =90-80 =10
(a) NR (b) PER 3 & _10
(c) REF (d) EXT 7% =50"'%
Ans : (¢c) T ISnfaafir gEw #, fauei W faw o 25><125‘V
. o = . 0
REF ¥ 3R 7% a0 & & f% 78 i =i ¢ 2
N e § afEvas TE 7| 66. A pilgrim starts from her house to visit various
64. A vendor buys a certain number of bananas at places. She walks 13 km towards the east, then
8 pieces for '5 and sells them at 5 pieces for ' 8. turns towards the north and walks 11 km, then
What will be his percentage profit? /Tch Tershar :urns :owargs :ll:e westthanddwall;ls{ 76kll?, theg
. A 5 B . urns towards the south and walks m an
?.5 | 8= & ) # @ : finally turns to her right and walks 6 km.
T et Tear ¢ oK 3= I o 5 7 (=) * Where is the now with respect to her starting
feamer & Sorr 81 SHeRr wfewra ey feRaAT position?
rm? T deamsht oo o) & e vt WS e &
(a) 40% (b) 48% T =msm 3 et €1 9% gd @t SR 13 TR
(c) 144% (d) 156% Terdt &, fRT SR @t 3R gt § ofiw 11 ferft.
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wrerelt €, TRt ufyerm =it o) gedt § oiw 7 ferf.
Tt &, TORT gfeTuT st 3T gt ¥ 3iiR 6 ferrt.
et € 3 3fd ¥ o ¥ X et € 3 6
fereft =reTet &1 3t o8 U uRftwer feufer &
|TUeT el W §?

(a) 5 km north/5 fFd. W ¥

(b) 5 km south/5 forHt. @R §

(c) 16 km north/16 fopHt. 3T &

(d) 16 km south/16 fdt. aferor &

Ans:(a)Eﬁ?ﬂ% SRR I T9H T,
6km N
De< 0KM. ¥ 11km. W B
s 13km. g
NG ¥ Wy ¢ 5 yrfves Refy & 9y sqe Rafy
= 11-6 = 5km 3 &3m0 ¥ g1

67.  Find the value of :
feu 7T =isTeR T | AT HITAT :
16—{25% of (14x10-+35+12x10+15)}
(a) 13 by 7
() 9 (d) 11
Ans : (a) 16—{25% of (14x10+35+12x10+15)}
~16- gof[l4><2+l2><mﬂ
| 100 35 15
16— lof(4+8)}
| 4
=16—- lxlz}
| 4
=16-3=13
68. A statement is given followed by two
conclusions. Decide which of the given

conclusions logically follow from the given
statements.

T &eF i @k o1g & forehd faw T 2
frular &t TR fau T freef & & & w1 T
T HYF T ATfeheh ® W U HIAT B
Statement/sh eI

Emotional Quotient is a good predictor of
success in career. /HIGATHch TUTch ERINE]
FAIE) THAAX W AR 1 Teh DT
o g

Conclusions:/T-TeRg :

I. The top 10 employees in a division will
have the top 10 Emotional Quotients.

e faumr & sfid 10 swi=mdt, sraATTs
U (FHITHE FAVTE) o Twer § off et
10 &I

Finding the Emotional Quotient of a

candidate will give the hiring company
extra useful information.

gfqurft @ aEATE U (FHEEE
FE9TE) W &= 9 e wuet @
fafih STTRN W=t wTe grf

Only conclusion II follows.

e s 11 Wrer e @

Neither conclusion I nor II follows
T Foreee 18 T & 11 Te e @
Only conclusion I follows.

Fael b [ rer ST 8

Both conclusions I and II follow.

forsshs 1 31 10, a1 9o e ©

1L

(a)

(b)

(©)

(d)

Ans :
AT T 7

(a) BT T Fu= F1 Faa frpd 11 aifhs &1 9

69.

The sentences given in this question, when
properly sequenced, form a coherent
paragraph. Each sentence is labelled with a
letter (the first sentence is not labelled and
given for your reference). choose the most
logical order of sentences from among the
given choices to construct a coherent
paragraph.

3 9 U feu U e, WE A ° BN W,
Tk GEHITA FTTDE a1 | Uedieh ATl ht Teh
AR | A e om ¥ (UgeT are A
& ¥, 3T ug ek dew & o foam e §))
Teh G ATo0E SHIH o TIQ o e ferehedt
T | Irer Rt Walereh deheiTd sl g |

There were once two brothers who lived on the
edge of aforest.

A. One day, the elder brother went into the
forest to find some firewood to sell in the
market.

As he went around chopping the branches
of a tree after tree, he came upon a magical
tree.

. The elder brother was very mean to his
younger brother and ate up all the food and
took all his good clothes.

The tree said to him, 'Oh kind sir, please do
NOT cut my branches'.

(a) ACDB (b) ACBD

(c) CADB (d) CABD

D.

‘Ans:(d)ﬂ?ﬁ %7 CABD 21|
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70.

Name the celebrity who has authroed 'Mrs.
Funnybones'? /39 Ui T& &1 AW S@3Q
e s wetea ' foret?

(a) Twinkle Khanna/Zfdehel @

(b) Bipasha Basu/ﬁefwaﬁ

(¢) Sonakshi Sinha/Geft fa=gT

(d) Shraddha Kapoor/#sT YT

Ans : (a) ZfiFd @ 7 ‘RS FHO I S aES

73.

A car loses 200 kJ of Kinetic energy when its
speed decreases from 25 m/s to 15 m/s. Find its
mass in tonnes.

TS Ueh &R ol Tfd 25m/s ¥ TEehT 15m/s &

STt &, A7 SHRT s Sott § 200kJ ST HHT
Bt {1 ST FIHH 2 W G W)

() 1 (b) 1.5

() 2 (d) 25

. . g 1

9 U U de g d G fordt 2| Ans:(a)TﬁH&_vﬁﬁqﬁaﬁqzaxmx(Vf—Vf)
71. C said to D, "You are my sister's husband's L1

mother-in-law." How is D related to C? 200x10° =5><m><(252 —152)

CH D ¥ e, ''gu "l og7 & ufa =t 9 :

' D C o o= G &2 200x103:5xm><(625—225)

(a) D is the mother-in-law of C. 1

D, C & 99 7| 200><103:E><mx400

(b) Dis the daughter of C./ D, C # 92T 2 200 % 10° =200 m

(c) Dis the sister of C./ D, C &I sg+ g m= 1000 kg

(d) DisthemotherofC/D,CEﬁIﬁé m=12q
Ans : (d) FI7 & IR 3G TH T, 74. In this question, two statements are given,

J@ 4 @y g f% D, CH o 2

C > g1 —-ufg— D99

e

72.

Find the mechanical advantage of a pulley
system if it has an efficiency of 60%. The load
lifts by 3 m when the rope is pulled by 12 m.
38 et womedt (geft Reew) w1 =it oW
T wifE, Tt g 60% ot A7 Wt @
12 Hiex Eiem W 9 3 e FwW s &

(a) 24 (b)) 1.2

(c) 4.8 (d) 3.6

Ans : (a)
o oTTett &t geTr =

WZWWW@

TEl, JI9 g a9 g = 12m
AL g T8 T =3 m

%frrrfgwra:E:4
T T = 60%

ad  60=

Iifaeh g

BlEERYIK
ERIERIG

x100

AL G 79 g4

3

M 100

_ 240 _

—=24
100

followed by three conclusions labelled I, IT and
III. You have to consider the statements to be
true even if they seem to be at variance with
commonly known facts, and decide which of
the given conclusions, if any, follow(s) from the
given statements.

............ foom &2 8, 9 & 3 1| dR W A
Teat ¥ e wedfia @ & ofiw fofar ==Y for fou
st & W @ Ot @
Statement/sh= : All mansions are palaces.
et gaferart weet €

No castles are palaces./&hTg g H&eT &l K]
Conclusions:/fers :
I. Some palaces are mansions.

%O e gaferdt g
II. Some castles are mansions.

% g At 8
III. No mansions are castles.

g gaelt, gt T &
(a) Only conclusion I and III follow.

heret foreepe 1 3 T1T Wre ahed &
(b) Only conclusion IIT follows.

heret forepe 111 Wre & §

(c) All the conclusions, I, IT and III, follow.
Teft foreed 1, 11 3 111 re & §

(d) Only conclusion I follows

Fad frerd [ are F &
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